Dossier

Bancos, papeleras
 Fuentes de
excerior
















w
Q
Q
=
=T
cd
T
o
o
T
Q
p
Lu
o
N
5]
Q
ANn
e
T
w
Q
&)
ANn
cd

QIHAVYIN - REEINN

OHLYND - WLLEWN

V1130 - P3ENN %’ ?
XX VLTEA - MESEINN ? %

LIAOIN -HPOEW

—

ONIOHYFOIN - #EEINN MI

VA - GEBEWN

OdF10L - BLEWN

VIE-TTLLEWN

Nvdl -396ENN

M -ZLENN

ONIOHVE - GREINN

ALV - BGEIWN




093 - BEEIWN

Va0 - BZEINN

1104 - G8eAN

OOIHaVINYD - [ 8EIAN

VNVISHE - FLENN

W-w

b
%ﬂ |
I\
\8
I

OOIAEON - BSEINN

STHHVAYD - H | LEINN _m ﬂ
OHOEHL09 - GPEINN % %

NOIDIAONNA -88EINN

STTIVA - OFEWN - l\
| 1
|

NISS3 - WBLEWN

ALID - Z6EWN







Neobarcino

Pies de fundicion duclil con fratamiento Ferrus, proceso profector del hierro, que ga-
rantiza una opfima resistencia a la corrosion. Acabado imprimacion epoxi y pinfura
poliéster en polvo color gris martelé. Seis fablones de seccidn 110 x 35 mm de madera
fropical fratada con Lignus, profector fungicida, insecticida e hidréfugo. Acabado color
natural. Tomillos de acero inoxidable. Anclaje recomendado: Tomillos de fijacion al
suelo de M10 seguin superficie y proyecto. Opcional: Se puede suminisirar madera
con certificado FSC. Bajo demanda se puede suminisirar con pies de fundicion de
aluminio

Pieds en fonfe ductfile; fraifement anficorrosion des pieds en 3 couches avec Ferrus.
Primaire époxy + Thermolaguage polyester gris martelé. Six laftes de bois exofique
de secfion 110 x 35 mm; fraifement fongicide insecficide et hydrofuge des laltes avec
Lignus, feinfe bois naturelle. Visserie en acier inoxydable. Scellement : 4 Vis M10 sur
plots bétons appropriés. En option : Bois certifié FSC, Pietements en fonte d'aluminium.

Ductile iron legs freated with Ferrus which guarantees a high resisfance fo the rust con-
forming o the spray salf fog fest. Epoxi primer coating and grey martele powder coaling
finish. Six fropical wooden boards of 110 x 35 mm freated with a preventive product
Lignus fungicide and insecticide and water proofed. Natural colour finished. Stainless
steel screws. Recommended anchorage: M10 fixing bolts for anchoring to the ground,
depending on the surface and the project. Optional: FSC cerfified fropical wood can be
used. Cast aluminium legs can be used.

Pés em ferro fundido com tratamento Ferrus, processo de proteg@o do ferro, que
garante uma élima resisténcia & corrosdo. Acabamento primdrio em epdxi e pintu-
ra poliéster em pd cor cinza martelado. Seis fGbuas, com as dimensoes 110 x 35
mm, de madeira fropical frafada com Lignus, profefor fungicida, inseficida e hidréfugo.
Acabamento em cor natural. Parafusos em aco inoxidavel. Fixacdo recomendada:
parafusos M10 para fixagdo ao solo, de acordo com o fipo de superficie e o projefo.
Opcional: E possivel fornecer madeira certficada FSC. Quando solicitado, os pés po-
der&o ser fornecidos em aluminio.

« A N B,
—‘ i ‘
T
T
Rel. A B H H1 ]
UM304 1800 mm 710 mm 800 mm 425 mm /
UM304S 700 mm 710 mm 800 mm 425 mm

UM304L 3000 mm 710 mm 800 mm 425 mm /
UM304B 1800 mm 630 mm 655 mm 460 mm /

*Opcional / En Opfion / Optional / Opcional

UM3045 (é\‘

Marcaje personalizado*
Marquages personnalisés*
Customised marking*
Marcagdo personalizada™

UM3048 \és:)g_

Madera técnica*

Bois fechnique*
Technical wood*
Madeira de engenhar






NeoKI &

Nueva formula Kir de fécil ensamblaje insifu. Ahorro en los costes de
fransporte y almacenaje. Facil y comodo ensamblaje directamente en la
obra en el momento realmente oportuno.

Nouvelle formule "ki" avec un assemblage facil insitu. Economie sur le
co(r de fransport ef pour le sfockage. Monfage facile ef pracfique, direc-
fament sur le chanfier.

New "kii" model for easy assembling on site. Save on fransport and sfora-
ge. Easy and confortable, sfraight on site at the right fime.

Nova férmula “Kit" de facil montagem na obra. Poupanga nos custos de
fransporte e armazenamento.

Facil e comoda montagem, directamente na obra no momenio em que
realmente necessita.

Facil montaje, no se precisa herramientas especiales
Montage facile, sans outils spéciaux

Easy assembling proces. No fools are required i
Facil montajem. no precisa ferramentas especiais

e A > p B il
[ 1 ‘
I
T
et A 5 o Espacio reducido de almacenaje y ahorro en el fransporte
. Espale rédult pour le stockage, economie dans le frasnport
UM304K-C 1800 mm 710 mm 425 mm
Save storage room and fransport cost
UM304SK-C 700 mm 710 mm 800 mm 425 mm Espago reduzido de armazenamento no fransporte







Delfa XX

Pies de fundicion duictil con fratamiento Ferrus, proceso profector del hierro, que garanti-
za una 6plima resistencia a la corrosion. Acabado imprimacion epoxi y pinfura poliéster
en polvo color gris marfelé. Tres fablones de seccion 190 x 40 mm y uno de 130 x 40
mm de madera fropical frafada con Lignus, protector fungicida, insecticida e hidréfugo.
Acabado color nafural. Tornillos de acero inoxidable. Anclaje recomendado: Tomillos
de fijacion al suelo de M10 segun superficie y proyecto. Opcional: Se puede suminisfrar
en madera con cerfificado FSC

Piefement en fonfe duclile avec fraifement Ferrus, procédé qui protege l'acier ef garantit
une résistance oplimale & la corrosion. Finiion couche primaire époxy ef thermolaqua-
ge polyester gris martelé. Trois laffes de secfion 190 x 40 mm ef une de 130 x 40 mm
en bois fropical fraité avec Lignus, profecteur fongicide, insecticide ef hydrofuge. Finition
feinfe nafurelle. Vis en acier inoxydable. Ancrage recommandé : vis M10 pour la fixation
au sol, en foncfion de la surface ef du projef. En opfion : bois certifié FSC

Ductile iron legs freated with Ferrus, a profective process for iron that guarantees high
corrosion resisfance. Epoxy primer coaling and grey martele polyester powder coated
finish. Three fropical wood boards measuring 190 x 40 mm and one board measuring
130 x 40 mm, freated with Lignus, a fungicide, inseclicide and waterproofing agent. Na-
fural colour finish. Stainless sfeel bolfrs. Recommended anchoring: M10 bolfs fo anchor
fo the ground, depending on the surface and the project. Optional: FSC certified fropical
wood can be supplied.

Pés de fundicgo dictil com fratamento Ferrus, processo protefor do ferro que garante
uma étima resisténcia a corrosdo. Acabamento de imprimagéo epdxi e pintura poliés-
fer em pd de cor cinza martelado. Trés [dbuas com as dimensdes 190 x40 mm e uma
de 130 x 40 mm de madeira fropical frafada com Lignus, protetor fungicida, inseficida
e hidréfugo. Acabamento em cor natural. Parafusos em ago inoxidavel. Fixag&o reco-
mendada: parafusos M10 para fixagdo ao solo, de acordo com o fipo de superficie e
projefo. Opcional: £ possivel fornecer madeira cerfificada FSC.

| A |
T
Ref. A B H H1 il
UM363w 1700 mm 685 mm 835 mm 455 mm
UM363wS 650 mm 685 mm 835 mm 455 mm
UM363wL 3000 mm 685 mm 835 mm 455 mm

*Opcional / En Opfion / Optional / Opcional

UM363WS

UM363wW

Marcaje personalizado™
Marquages personnalisés*®
Customised marking*

UM363wL Marcagdo personalizada™



e 5

Pies de fundicion dictil con fratamiento Ferrus, proceso profector del hierro,
que garanfiza una éplima resistencia a la corrosion. Acabado imprimacion
epoxi Y pintura poliéster en polvo color gris martelé. Tres fablones de sec-
cién 190 x 40 mm y uno de 130 x 40 mm de madera tropical fratada con
Lignus, profector fungicida, insecticida e hidréfugo. Acabado color natural.
Tornillos de acero inoxidable. Anclaje recomendado: Tornillos de fijacion al
suelo de M10 seguin superficie y proyecto. Opcional: Se puede suminisfrar
en madera con cerfificado FSC.

Piefement en fonfe ducfile avec fraltement Ferrus, procédé qui prolege
I'acier er garanfir une résistance oplimale & la corrosion. Finiion couche pri-
maire époxy el thermolaquage polyester gris martelé. Trois laftes de section
190 x 40 mm el une de 130 x 40 mm en bois fropical frairé avec Lignus,
protecteur fongicide, insecticide el hydrofuge. Finition feinte naturelle. Vis en
acier inoxydable. Ancrage recommandé : vis M10 pour la fixation au sol, en
fonclion de la surface el du projel. En opfion : bois cerfifié FSC.

Ductile iron legs freated with Ferrus, a profective process for iron thaf gua-
rantees high corrosion resistance. Epoxy primer coafing and grey martele
polyester powder coated finish. 3 fropical wood boards measuring 190 x
40 mm and one board measuring 130 x 40 mm freated with Lignus, a fun-
gicide, insectlicide and waterproofing agent. Natural colour finish. Stainless
steel bolts. Recommended anchoring: M10 bolts fo anchor to the  ground,
depending on the surface and the project. Oplional: FSC cerfified wood
can be supplied

Pés de fundigto ductil com fratamento Ferrus, processo profetor do ferro
que garante uma ofima resisténcia a corrosdo. Acabamento de impri-
macdo epdxi e pinfura poliéster em pd de cor cinza martelado. Trés 1a-
buas com as dimensdes 190 x40 mm e uma de 130 x 40 mm de madei-
ra fropical frafada com Lignus, protefor fungicida, inseficida e hidréfugo.
Acabamento em cor natural. Parafusos em ago inoxidavel. Fixagdo reco-
mendada: parafusos M10 para fixagdo ao solo, de acordo com o fipo de
superficie e projefo. Opcional: E possivel forecer madeira cerfificada FSC

Ref. A B H H1
UM364 1700 mm 680 mm 845 mm 450 mm
UM3645 650 mm 680 mm 845 mm 450 mm
UM364L 3000 mm 680 mm 845 mm 450 mm

*Opcional / En Option / Optional / Opcional

Marcaje personalizado*
Marguages personnalisés*
Cusfomised marking*
Marcago personalizada*

UM364S

UM364L



L]
L |







Qualro

Pies acero corfen (opcional pies de acero con imprimacion epoxi Y aca-
bado en oxirdn rojo ¢xido) y cinco tablones de seccién 140 x 70mm de
madera fropical frafada con Lignus profector fungicida, insecficida e hi-
dréfugo. Acabado en color natural. Torillos de acero inoxidable. Anclaje
recomendado: Tornillos de fijacion al suelo de M1@ seglin superficie y
proyecto.

Pietement en acier Corten (en option Pietement en acier avec une couche
primaire époxy ef finiion en oxiron rouge oxyde) ef cing laffes de section
140 x 70 mm en bois fropical fraifé avec Lignus, profecteur fongicide,
insecticide et hydrofuge. Finiion teinfe naturelle. Vis en acier inoxydable.
Ancrage recommandé : vis M10 pour la fixation au sol, en foncfion de la
surface et du projef.

Corten steel legs (oplional steel legs with epoxy primer coating and red
wrought iron oxiron) and 5 fropical wood boards measuring 140 x 70 mm,
freated with Lignus, a fungicide, insecficide and waterproofing agent. Na-
tural colour finish. Stainless sfeel bolts. Recommended anchoring: M10
pbolts fo anchor fo the ground, depending on the surface and the project.

Pés em aco corten (opcional em ago com imprimacdo epdxi e acaba-
mento em oxirdn vermelho oxidado) e composio por cinco fabuas de
madeira fropical, com as dimensdes 140 x 70 mm, frafada com Lignus,
profefor fungicida, inseticida e hidréfugo, acabamentos em cor natural.
Parafusos em aco inoxidavel. Fixagdo recomendada: parafusos M10
para fixagdo ao solo, de acordo com o fipo de superficie e projefo.

A ‘ B ‘
sy
I
Ref. A B H H1
UM377PC 2000 mm 635 mm 765 mm 450 mm
UMB377SPC 615 mm 635 mm 765 mm 450 mm

*Opcional / En Option / Optional / Opcional

Pies de acero*
Piéfements en acier*
Steel legs*

Pés em ago*

UM377SPC

UM377PC

Marcaje Personalizado*
Marquages personnalisés™

Customised marking*
Marcagéo personalizada*

Con apoyabrazos*
Avec accoudoirs*
With armrest*

Com apoia-bragos*




FRREIT T SRR
o et R S
11.—.11.&-_.... =

S vl




S0

Pies de fundicién ductil con frafamienfo Ferrus, proceso protector del
hierro, que garanliza una éplima resistencia a la corrosion. Acabado
imprimacion epoxi y pintura poliéster en polvo color negro forja. Cuatro
fablones de seccién 135x40 mm y un fablén de seccion 110x40 mm
en madera fropical frafada con Lignus, profector fungicida, insecficida e
hidréfugo. Acabado color natural. Tornillos de acero inoxidable. Anclaje
recomendado: Tomillos de fijocién al suelo de M10 segun superficie y
proyecto.

Piefement en fonfe ductile avec fraifement Ferrus, procédé qui profege
Iacier et garantit une résistance optimale & la corrosion. Finifion couche
primaire époxy et thermolagquage polyester noir de forge. Quatre laftes de
135 x 40 mm ef une latte de 100 x 40 mm, en bois fropical fraifé avec Lig-
nus, profecteur fongicide, insecficide ef hydrofuge. Finition feinte naturelle.
Vis en acier inoxydable. Ancrage recommandé : vis M10 pour la fixation
au sol, en foncfion de la surface ef du projef.

Ductile iron legs freated with Ferrus, a profective process for iron that
guarantees high corrosion resistance. Epoxy primer coafing and black
wrought iron coloured polyester powder coated finish. 4 fropical wood
boards measuring 135 x 40 mm and one board measuring 110 x 40 mm,
freated with Lignus, @ fungicide, insecficide and waterproofing agent. Na-
fural colour finish. Stainless steel bolls. Recommended anchoring: M10
balrs fo anchor fo the ground, depending on the surface and the project.

Pés de fundigtio dUclil com fratamento Ferrus, processo protetor do ferro
que garanfe uma éfima resisféncia & corros@o. Acabamento de impri-
macgdo epdxi e pinfura poliéster em pd de cor prefo forja. Quatro fabuas
de madeira fropical com as dimensdes 135x40 mm e uma com as di-
mensoes 110 x 40 mm, frafadas com Lignus, profefor fungicida, insefici-
da e hidréfugo. Acabamento cor natural. Parafusos em ago inoxidével.
Fixag@o recomendada: parafusos M10 para fixagdo ao solo, de acordo
com o fipo de superficie e projeto.

Ref. A B H H1

UM380 1800 mm 735 mm 855 mm 465 mm

*Opcional / En Opfion / Optional / Opcional

UM380

Marcaje personalizado*
Marguages personnalisés*
Customised marking*
Marcagdo personalizada*




—— H..\...- = ll..ll-..ll.h-.i:1

i

Tt T
S F ....-nw '
.

PO

B allliidfn

; l's‘_'_',. ;
g ‘:fh'-:'-"-‘.l‘\-i*
e Ry




Sre

Pies de fundicién ductil con acabado imprimacion epoxi y pintura poliéster
en polvo color negro forja. Cinco tablones de seccion 110x35 mm de ma-
dera fropical fratada con Lignus, profector fungicida, insecticida e hidréfu-
go. Acabado color caoba. Tomillos de acero inoxidable. Anclaje recomen-
dado: Tomillos de fijacion al suelo de M10 seguin superficie y proyecto.
Opcional: Se puede suministrar en madera fécnica.

Pietfement en fonfe ducfile avec finfion couche primaire époxy ef thermola
quage polyester noir de forge. Cing laffes en bois fropical de seclion 110
x 35 mm, fraité avec Lignus, profecteur fongicide, insecticide et hydrofuge.
Finifion feinte acajou. Vis en acier inoxydable. Ancrage recommandé : vis
M10 pour la fixation au sol, en fonction de la surface et du projer.

Ductile iron legs with epoxy primer coating and black wrought iron coloured
polyester powder coating. Five fropical wood boards measuring 110 x 30
mm, freafed with Lignus, a fungicide, insecficide and waterproofing agent
Mahogany colour finish. Stainless steel bolrs. Recommended anchoring:
M10 bolis fo anchor fo the ground, depending on fhe surface and the pro
ject. Opfional: fechnical wood can be supplied.

Pés de fundicto ductil com acabamento de imprimagdo epdxi e pinfura
poliéster em po de cor preto forja. Cinco tabuas de madeira tropical com
as dimensoes 110x35 mm fratada com Lignus, protetor fungicida, insefici-
da e hidrofugo. Acabamento cor de mogno. Parafusos em ago inoxidavel.
Fixag@o recomendada: parafusos M10 para fixagdo ao solo, de acordo
com o tipo de superficie e projeto.

Ref A B H H1

UM374 1800 mm 630 mm 770 mm 445 mm

*Opcional / En Option / Optional / Opcional

Madera fécnica*

Bois fechnique*
Technical wood*
Madeira de engenharia™®

Marcaje personalizado*
Marquages personnalisés*®
Cusftomised marking*
Marcagdo personalizada™

UM374MTP




Madrid

Pies y refuerzo central de plefina de acero de 50 x 8 mm (UM332: 50 x 16 mm)
con esmale negro en poliéster al hormno. Dos tablones de madera fropical de 170 x
40 mm (UM332: 190 x 45 mm) en el asiento y un tablén de 190 x 40 mm (UM332:
245 x 45 mm) en el respaldo Irafada con Lignus, profector fungicida, inseclicida e
hidréfugo. Acabado color caoba. Tornillos de acero inoxidable. Anclaje recomen-

dado: Tornillos de fijacién al suelo de M10 seguin superficie y proyecto.

Pietement ef renfort central de plat en acier de 50 x 8 mm (UM332 : 50 x x16 mm)
avec émail noir polyester au four. Deux laffes de bois fropical de 170 x 40 mm
(UM332 : 190 x 45 mm) pour lassise ef une lalte de 190 x 40 mm (UM332 : 245 x
45 mm) pour le dossier traité avec Lignus, profecteur fongicide, inseclicide ef hy-
drofuge. Finition feinte acajou. Vis en acier inoxydable. Ancrage recommandé : vis
M10 pour la fixafion au sol, en fonction de la surface et du projef.

Legs and center reinforcement made of a 50 x 8 mm (UM332: 50 x x16 mm) sfeel
sheel with shiny black oven-baked polyester enamel. Two fropical wood boards
measuring 170 x 40 mm (UM332: 190 x 45 mm) for the seat and a 190 x 40 mm
(UM332: 245 x 45 mm) board for the backrest, freated with Lignus, a fungicide,
inseclicide and waterproofing agent. Mahogany colour finish. Stainless steel bols.
Recommended anchoring: M10 bolis fo anchor fo the ground, depending on the
surface and the project.

Pés e reforgo cenfral em chapa de ago de 50 x 8 mm (UM332: 50 x x16 mm) com
esmalte prefo em poliéster ao forno. Duas fébuas de madeira tropical no assento,
com as dimensoes 170 x 40 mm (UM332: 190 x 45 mm), e coslas com uma fabua
de 190 x 40 mm (UM332: 245 x 45 mm) frafada com Lignus, profetor fungicida,
inseficida e hidréfugo. Acabamento cor de mogno. Parafusos em ago inoxidavel.
Fixac@io recomendada: parafusos M10 para fixagéo ao solo, de acordo com o
fipo de superficie e projefo

Ref. A B H H1 T

UM330 2000 mm 655 mm 840 mm 450 mm

UM332 2000 mm 654 mm 750 mm 388 mm

UM330 (é\.

Marcaje personalizado™
Marquages personnalisés*®
Cusfomised marking*
Marcagdo personalizada™










Cantabrico

Pies de fundicién ductil con acabado imprimacion epoxi y pinfura poliéster
en polvo color negro forja. Dos fablones en el asienfo de seccidon 150 x
45 mm y uno en el respaldo de seccion 200 x 45 mm de madera fropical
frafada con Lignus, profector fungicida, insecticida e hidréfugo. Acabado
color caoba. Tornillos de acero inoxidable. Anclaje recomendado: Tomi-

llos de fijacion al suelo de M10 seguin superficie y proyecto.

Piefement en fonfe ductile avec avec finifion couche primaire époxy ef ther-
molaguage polyesfer nair de forge. Siege en deux laftes de sectfion 140 x
70 mm ef dossier en une laffe de section 200 x 45 mm en bois fropical fraié
avec Lignus, profecteur fongicide, insecticide ef hydrofuge. Finition feinte
acajou. Vis en acier inoxydable. Ancrage recommandé : vis M10 pour la
fixafion au sol, en fonction de la surface ef du projet

Duclile iron legs with epoxy primer coaling and black wrought iron coloured
polyester powder coated finish. Two fropical wood boards measuring 150
x 75 mm on the seat and one measuring 200 x 45 mm on the backrest,
freated with Lignus, a fungicide, insecticide and waterproofing agent. Ma-
hogany colour finish. Stainless steel bolts. Recommended anchoring: M10
pbolfs fo anchor fo the ground, depending on the surface and the project

Pés de fundicto ductil com acabamento de imprimagdo epdxi e pinfura
poliéster em pd de cor prefo forja. Assento composto por duas tabuas,
de dimensdes 150 x 45 mm e uma, nas cosfas, com 200 x 45 mm, de
madeira fropical frafada com Lignus, profefor fungicida, inseficida e hidro-
fugo. Acabamento cor de mogno. Parafusos em aco inoxidével. Fixagdo
recomendada: parafusos M10 para fixagéo ao solo, de acordo com o
fipo de superficie e projefo.

Ref. A B H H1

umM3g1 2000 mm 505 mm 700 mm 400 mm

*Opcional / En Option / Optional / Opcional

Marcaje personalizado™
Marquages personnalisés™®
Cusfomised marking*
Marcagdo personalizada™







L eman

Pies de fundicién ductil, con fratamienfo Ferrus, proceso protector del hierro
que garantiza una éplima resistencia a la corrosion. Acabado imprimacion
epoxi y pinfura paliésfer en polvo color gris. Bajo demanda se puede sumi-
nisfrar con pies de fundicion de aluminio AG3. Tablones de seccion 55 x 30
mm de madera fropical fratada con Lignus, profector fungicida, insectlicida e
hidrofugo. Acabado color caoba. Tornillos de acero inoxidable. Anclaje reco
mendado: Tornillos de fijacién al suelo de M10 seguin superficie Y proyecto.

Pietfement en fonfe ductile, avec fraltement Ferrus, procédé qui profege le fer et
garaniif une résisfance opfimale & la corrosion. Finifion couche primaire époxy
ef thermolaquage, couleur gris. En opfion : pigtfement en fonfe d'aluminium
AG3. Lattes de seclion 55 x 30 mm en bois fropical fraité avec Lignus, pro-
fecteur fongicide, insecficide el hydrofuge. Finifion feinfe acajou. Vis en acier
inoxydable. Ancrage recommandé : vis M10 pour la fixation au sol, en fonction
de la surface et du proje.

Duclile iron legs freated with Ferrus, a profective process for iron fhat guaran-
fees high corrosion resistance. Epoxy primer coating and grey polyester pow-
der coated finish. AG3 cast aluminium legs can be supplied upon request.
Tropical wood boards measuring 55 x 30 mm, freafed with Lignus, a fungicide,
inseclicide and waterproofing agent. Mahogany colour finish. Stain-

less steel bolfs. Recommended anchoring: M10 bolts fo anchor to the

ground, depending on fhe surface and the project.

Pés de fundigto ducfil, com frafamento Ferrus, processo profefor do ferro que
garante uma oéfima resisténcia & corrosdo. Acabmento de imprimagao epodxi
e pintura poliéster em pd de cor cinza. Quando solicitado, os pés poderdo ser
fornecidos em fundigto de aluminio AG3. Tabuas de madeira fropical, com
as dimensdes 55 x 30 mm, frafada com Lignus, profefor fungicida, inseficida e
hidréfugo. Acabamento cor de mogno. Parafusos em aco inoxidavel. Fixagéo
recomendada: parafusos M10 para fixagdo ao solo, de acordo com o fipo
de superficie e projefo

A | B il
Ref. A B I 11

UM397 2300 mm 600 mm 830 mm 420 mm
UM3978 2300 mm 545 mm 450 mm

UM397S 650 mm 600 mm 830 mm 420 mm
UMB397E 1965 mm 600 mm 830 mm 430 mm
UM397BE 1965 mm 545 mm 460 mm
UM397SE 650 mm 600 mm 830 mm 430 mm

Con listones de 52 x40
Avec lattes de 52x40
With 52x40 slafs

Com madeira de 52x40

UM397

UMB397E

ESC

&

UM397SE (é\'

UM397BE



R0A0

Pies de fundicion ductil con tratamiento Ferrus, proceso protector del hierro,
que garantiza una optima resistencia a la corrosion. Acabado imprima-
cion epoxi Y pinfura poliéster en polvo color negro forja. Diez fablones de
seccion 52 x 40 mm de madera fropical fratada con Lignus, profector
fungicida, inseclicida e hidréfugo. Acabado color caoba. Tres barras de
filacion y tornillos de acero inoxidable. Anclaje recomendado: Tornillos de

fijacion al suelo de M10 segun superficie y proyecto

Pietfement en forte ductile avec fraitement Ferrus, procédé qui profege
I'acier et garanlit une résistance oplimale & la corrosion. Finition couche
primaire époxy ef thermolagquage polyester noir de forge . Dix laffes de bois
fropical de 52 x 40 mm fraité avec Lignus, profecteur fongicide, insectlicide
el hydrofuge. Finifion teinte acajou. Trois barres de fixation el vis en acier
inoxydable. Ancrage recommandé : vis M10 pour la fixafion, en fonction
de la surface et du projef

Ductile iron legs freated with Ferrus, a protective process for iron that gua-
ranfees high corrosion resistance. Epoxy primer coafing and black wrought
iron coloured polyester powder coated finish. Ten fropical wood boards
measuring 52 x 40 mm, freafed withLignus, a fungicide, inseclicide and
waterproofing agent. Mahogany colour finish. Three sfainless sfeel cross
pieces and bolfs. Recommended anchoring: M10 bolts to anchor fo the
ground, depending on the surface and the project.

Pés de fundigdo dicfil com frafamento Ferrus, processo profefor do ferro
que garante uma &ima resisténcia & corros@o. Acabamento de impri-
magdo epOxi e pinfura poliéster em pd de cor prefo forja. Dez fGbuas de
madeira fropical, com as dimensdes 52 x 40 mm, frafadas com Lignus,
profefor fungicida, inseficida e hidréfugo. Acabamento cor de mogno. Trés
barras em ago inoxidavel. Fixagdo recomendada: parafusos M10 para
fixagto ao solo, de acordo com o tipo de superficie e projeto

Ref. H H1

=
@

UM320 1995 mm 620 mm 750 mm 415 mm

©
©
n

G

UM320S 595 mm 620 mm 750 mm 415 mm

UM320S







Marcaje personalizado*
Marquages personnalisés™
Cusfomised marking*
Marcagdo personalizada*®

m(efe

Pies de fundicién duclil con imprimacion epoxi y pintura poliéster en polvo
color negro forja. Seis fablones de seccién 110x35 mm de madera fropi-
cal fratada con Lignus, protector fungicida, insecticida e hidréfugo. Aca-
bado color caoba. Tornillos de acero inoxidable. Anclaje recomendado:
Tornillos de fijacion al suelo de M8 seguin superficie y proyecto.

UM368S

Piefement en fonfe ductile avec couche primaire époxy ef thermolagquage
polyester nair de forge. Six lattes de bais fropical fraité avec Lignus, protec-
feur fongicide, insectlicide el hydrofuge. Finifion feinfe acajou. Vis en acier
inoxydable. Ancrage recommandé : vis M8 pour la fixation, en fonclion de
la surface et du projet

Ductile iron legs with epoxy primer coating and black wrought iron coloured
polyester powder coated finish. Six fropical wood boards measuring 110
x 35 mm, freafed with Lignus, a fungicide, insecticide and waterproofing
agent. Mahogany colour finish. Stainless steel bolts. Recommended an-
choring: M8 bolis to anchor fo the ground, depending on the surface and
fhe project

Refuerzo cenfral en el asienfo*
Renforf special sur la banquette®
Reinforced mefal band*

Reforco cenfral no asento*

Pés de fundicto ductil com imprimagao epdxi e pinfura poliéster em pd
de cor prefo forja. Seis [dbuas com as dimensodes 110x35 mm de madei-
ra fropical fratada com Lignus, protetor fungicida, inseticida e hidréfugo.
Acabamento cor de mogno. Parafusos em ago inoxidavel. Fixacdo reco-
mendada: parafusos M10 para fixagdo ao solo, de acordo com o fipo
de superficie e projefo.

) A

[ |

L |

[ ml

Ref. A B H H1

UM368 1800 mm 660 mm 830 mm 455 mm
UM368S 700 mm 660 mm 830 mm 455 mm
UM368L 3000 mm 660 mm 830 mm 455 mm

UMm368L

*Opcional / En Option / Optional / Opcional






Pies de acero inoxidable. Diecinueve fablones de seccién 40 x 35 mm
de madera fropical frafada con Lignus, profector fungicida, inseclicida e
hidréfugo y un fabldén de 110 x 35 mm recubierfo en acero inoxidable
en la parte inferior del respaldo. Acabado color negro. Tomnillos de acero
inoxidable. Anclaje recomendado: Tomillos de fijacién al suelo de M10
seguin superficie y proyecio.

Pietfement en acier inoxydable. Dix-neuf lalfes de secfion 40 x 35 mm, en
bois fropical fraité avec Lignus, protecteur fongicide, insecticide el hydro-
fuge ef une latte de 110 x 35 mm recouverte en acier inoxydable sur la
partie inférieure du dossier. Finiion feinte noire. Vis en acier inoxydable.
Ancrage recommandé : vis M10 pour la fixation au sol, en fonction de la
surface ef du projet.

Stainless steel legs. Nineteen fropical wood boards measuring 40 x 35
mm, freated with Lignus, a fungicide, inseclicide and waterproofing agen,
and one sfainless steel covered board measuring 110 x 35 mm on the
lower part of the backrest. Black finish. Stainless sfeel bolts. Recommen-
ded anchoring: M10 bolts fo anchor fo the ground, depending on the sur-
face and the project.

Pés em aco inoxidavel. Dezanove fdbuas de madeira fropical, com as
dimensdes 40 x 35 mm, frafada com Lignus, profefor fungicida, inseficida
e hidréfugo e uma tébua de 110 x 35 mm revesfida em ago inoxidavel na
parte inferior das costas. Acabamenio a prefo. Parafusos em aco inoxi
davel. Fixagdo recomendada: parafusos M10 para fixagéo ao solo, de
acordo com o lipo de superficie e projeto.

Ref. A B H H1
UM398 2000 mm 770 mm 845 mm 480 mm
UMB98E 2000 mm 730 mm 860 mm 480 mm
UM398C 2000 mm 770 mm 845 mm 485 mm

UM398C

UM398E






A
1. X

441

F .. o .‘
= Vo
-

S

e

L deama # el
Y a

-’
y
FI-' i




SArcino

Pies de fundicién ductil con acabado imprimaciéon epoxi y pinfura poliéster en polvo
color negro forja. Tablones de seccién 40 x 35 mm  de madera fropical fratada con
Lignus, protector fungicida, insecticida e hidréfugo. Acabado color caoba. Tornillos de
acero inoxidable. Anclaje recomendado: Tornillos de fijacion al suelo de M10 segiin
superficie y proyecto. Opcional: Se puede suministrar madera con cerfificado FSC o
PEFC.

Piefement en fonte ductile avec finiion couche primaire époxy et thermolaquage po-
lyester noir de forge. Laftes de bolis fropical de seclion 40 x 35 mm fraité avec Lignus
profecfeur fongicide, insecficide ef hydrofuge. Finition feinfe acajou. Vis en acier ino-
xydable. Ancrage recommandé : vis M10 pour la fixation au sol, en fonction de la
surface el du projel. En opfion : bois cerfifié FSC ou PEFC.

Duclile iron legs with epoxy primer coafing and black wrought iron coloured polyester
powder coated finish. Tropical wood boards measuring 40 x 35 mm, freated wih Lig-
nus, a fungicide, insecficide and waterproofing agent. Mahogany colour finish. Stainless
steel bolfs. Recommended anchoring: M10 bolts to anchor to the ground, depending
on fhe surface and the project. Opfional: FSC- or PEFC-certified wood can be supplied.

Pés de fundicto ductil com acabamento de imprimagdo epdxi e pintura poliéster em
pd de cor prelo forja. Tabuas, com as dimensdes 40 x 35 mm, de madeira fropical fra-
fada com Lignus, protetor fungicida, inseficida e hidréfugo. Acabamento cor de mog-
no. Fixagdo recomendada: parafusos M10 para fixagéo ao solo, de acordo com o fipo
de superficie e projefo. Opcional: E possivel fornecer madeira certificada FSC ou PEFC.

A
E E E 100
Ref A B H Hi T
UM305 2000 mm 700 mm 785 mm 440 mm
UM3055 540 mm 700 mm 785 mm 440 mm
UM302 540 mm 700 mm 785 mm 440 mm

UM305S




Kube

Hormigoén prefabricado color gris granfico de aspec-
fo liso. Se puede colocar en elementos aislados o en
grupos. Anclaje recomendado: Apoyado por su propio
peso

Béton préfabriqué gris granite, aspect lisse. Peut élre pla-
cé séparément ou en groupes. Ancrage recommandé :
posé a ferre.

Pre-cast smooth granite grey concrete. May be posiio-
ned individually or in groups. Recommended anchoring:
free-standing.

Cimento pré-fabricado de cor cinzenfo granitico com as-
pefco liso. Pode ser colocado em elementos isolados ou
em grupos. Fixagdo recomendada: Apoiado pelo seu
proprio peso.

)]

B N . A
Ref. A B H
UM372 2000 mm 500 mm 450 mm

UM3725 500 mm 500 mm 450 mm

Ofros productos Kube
Aulres produits Kube
Ofther products Kube

Ofros productos Kube

P90-91

UM372S

UM372

e

P210-211









e
i

AR

AYF T

-

i

PR SRS D B 1 9% W T

=
]

T
5

b RS, M W

Trauy

Hormigdn prefabricado color gris granffico de aspecio liso. Banco Kir de
facil ensamblaje insitu en la obra. Ahorro en los cosfes de fransporte y al-
macenaje. Anclaje recomendado: Apoyado por su propio peso. Opcional:
banco de acero galvanizado con imprimacion epoxi y pintura poliéster en
polvo con los pies acabados color negro forja y el asienfo color gris RAL-

9006. Anclaje recomendado: Tomillos de fijacién al suelo de M10 segin
superficie y proyecto.

Béton préfabriqué hydrofuge couleur gris granite d'aspect lisse. Banc
fype Kir facile & assembler sur place. Colts de fransporf ef de stocka-
ge moindres. Ancrage recommandé : posé & terre. En opfion : banc en
acier galvanisé avec couche primaire époxy el thermolaguage polyester
noir de forge pour le piefement el gris RAL 9006 pour le siege. Ancrage
recommandé : vis M10 pour la fixation au sol, en foncfion de la surface
el du projef.

Pre-cast smooth granife grey concrete. Bench kit that is easy fo assemble
in situ af the work site, which saves sforage and fransport costs. Recom-
mended anchoring: Free sfanding. Oplional: Galvanised sfeel bench with
epoxy primer coafing and polyester powder coated finish, with legs finis-
hed in black wrought iron colour and the seat in grey RAL 9006. Recom-
mended anchoring: M10 bolfs o anchor fo the ground, depending on the
surface and the project.

Cimenlo pré-fabricado de cor cinzento granfico com aspefo liso. Banco
Kit de fécil montagem “in loco” que permite uma poupanca de espago nNo
armazenamento e no fransporte. Fixagdo recomendada: Apoiado pelo
seu préprio peso. Opcional: Banco de ago galvanizado com imprimagdo
epdxi e pinfura poliésfer em pd com os pés em acabamento de cor prefo
forja e assento em cinza RAL- 9006. Fixagto recomendada: parafusos de
fixagdo ao solo M10 de acordo com fipo de superficie e projefo.

| A | B
Ref. A B H H1
UM396E 2000 mm 630 mm 510 mm -
UM396H 2000 mm 630 mm 510 mm

*Opcional / En Opfion / Optional / Opcional

UM396H

TRAUKIT (UM396 / UM396H )

Hormigdn prefabricado

Béton préfabriqué
Prefabricafted concrete
Beldo pré-fabricado

UM396E

Acero galvanizado*
Acier galvanisé *
Galvanized steel*

Aco galvanizado*

100







AT AT B

B T e ¢ . i~

Asiento de hormigén armado hidréfugo moldeado, color
blanco granfico pulido. Esfructura de acero inoxidable mate.
Anclaje recomendado: Apoyado por su propio peso. Opcio-
nal se puede combinar con listones de madera fropical de
seccion 110x35mm, fradafa con Lignus , profector fungicida,
insecticida e hidréfugo. Acabado color natural.

Assise en béton armé hydrofuge moulé couleur blanc grani-
fe poli. Sfructure en acier inoxydable mate. Ancrage recom-
mandé : posé & terre. En opfion @ possibilté de combiner
avec des laftes en bois fropical de section 110 x 35 mm, fraité
avec Lignus, profecfeur fongicide, inseclicide el hydrofuge.
Finition teinfe naturelle

Pre-cast reinforced waterproof polished granife whife con-
crefe seal. Malfe slainless sfeel slructure. Recommended
anchoring: free-standing. Opfional: This product can be
combined with 110 x 35 mm fropical wood slafs, which have
been Ireated with Lignus, a fungicide, insecficide and water-
proofing agent. Natural colour finish.

Assenio de befo armado hidréfugo moldado, cor branco
granttico polido. Esfrutura de ago inoxidavel mate. Fixag&o
recomendada: Apoiado pelo seu proprio peso. Opcional:
pode ser combinado com ripas de madeira fropical com
as dimensdes 110x35mm, frafada com Lignus cor natural,
profefor fungicida, inseficida e hidréfugo.

UM371LM

I VT [
Ref. A B H H1
UM371L 3000 mm 800 mm 420 mm -
UM371LP 3000 mm 800 mm 870 mm 420 mm
UM371LM 3000 mm 800 mm 460 mm 420 mm

==

\‘\

UM371LP é\-






loledo

Hormigdn prefabricado armado color blanco granifico. Anclaje: Apoyado
en el suelo en sus exiremos robuslos con el objefivo de facilifar la impieza
y el manteniminefo. Opcional: Se puede fabricar con respaldo sujefado
por cuatro varillas de acero revestidas de fubo de acero inoxidable.

Béton armé préfabriqué, couleur blanc granite. Ancrage : posé a terre sur
des exirémités résistantes, dans le bur de faciliter le neffoyage ef l'entrefien.
En opfion : dossier fixé sur 4 tiges avec revétement en fube d'acier ino-
xydable.

Pre-cast reinforced polished granite whife concrete. Anchoring: Supported
on the ground by ifs sfrong ends, which allows for easy cleaning and
maintenance. Optional: can be manufactured with a backrest fastened by
four sfeel bars covered by stainless sfeel fube.

Cimento pré-fabricado armado de cor branco granttico. Fixagdo: Apoia-
do ao solo nas suas robustas exiremidades com o objefivo de facilifar a
limpeza e a manutencdo. Opcional: pode-se fabricar sem costas

|
T

Ref. A B H H1

UM370 2000 mm 450 mm 425 mm -

UM370R 2000 mm 560 mm 845 mm 450 mm

UM370

UM370R



-
e
-
-
-
-
-
—
-
-
-l
-
-
-
-
el




L3

-

-

2 0 T

4

Aleo

Pies y respaldo de acero galvanizado con frafamiento Ferrus, proceso protector
del hierro, que garanfiza una éplima resisfencia a la corrosion. Imprimacion epoxi
y pinfura poliéster en polvo color rojo cobre. Asiento formado por fres fablones de
madera fropical de seccién 150 x 45mm frafada con Lignus, protector fungicida,
insecticida e hidréfugo. Acabado color natural. Tomillos de acero inoxidable. Ancla-
je recomendado: Tornillos de fijacion al suelo de M10 segun superficie y proyecto

Piefement ef dossier en acier galvanisé avec fraifement Ferrus, procédé qui profege
I'acier ef garantit une résistance optimale & la corrosion. Couche primaire époxy er
thermolagquage polyester, couleur rouge cuivre. Siege consfitué de trois lattes de
secfion 150 x 45 mm, en bois fropical fraifé Lignus, protecteur fongicide, inseclicide
ef hydrofuge. Finition feinfe naturelle. Vis en acier inoxydable. Ancrage recomman-
dé : vis M10 pour la fixation au sol, en fonction de la surface et du projet.

Galvanised sfeel legs and backrest freated with Ferrus, a proteclive process for iron
fhat guarantees high corrosion resistance. Epoxy primer coating and copper red
polyester powder coated finish. Three fropical wood boards measuring 150 x 45
mm, freated with Lignus, a fungicide, insecficide and waterproofing agent. Natural
colour finish. Stainless steel bolis. Recommended anchoring: M10 bolts fo anchor
fo the ground, depending on the surface and the project.

Pés e coslas em ago galvanizado com fraflamenio Ferrus, processo profefor do
ferro que garante uma Alima resisféncia & corosdo. Acabamento de imprimagdo
epdxi e pintura poliéster em pd de cor vermelho cobre. Assento formado por frés
ftibuas de madeira fropical de 150 x 45 mm frafada com Lignus, protetor fungicida,
inseficida e hidréfugo. Acabamento em cor natural. Parafusos em aco inoxidavel
Fixacdo recomendada: parafusos M10 para fixagdo ao solo, de acordo com o
fipo de superficie e projefo.

1
PN

Ref. A B H H1 T
UM395 2095 mm 670 mm 880 mm 425 mm
UM395B8 2100 mm 675 mm 590 mm 430 mm

*Opcional / En Option / Optional / Opcional

UM395B




Acero galvanizado con frafamienfo Ferrus, proceso profector del hierro,
que garantiza una épfima resisfencia a la corrosion. Pies con imprima-
cién epoxi Y pintura poliéster en polvo color negro forja y asiento con
imprimacion epoxi Y pinfura poliéster en polvo color gris plata RAL 9006.
Anclaje recomendado: Tornillos de fijacion al suelo de M10 segiin super-
ficie y proyecto.

Acier galvanisé avec frafement Ferrus, procédé qui profege l'acier ef
garaniit une résistance opfimale & la corrosion. Piefement avec couche
primaire époxy ef thermolagquage polyester noir de forge. Siege avec cou-
che primaire époxy et thermolaquage polyester, couleur gris RAL 9006.
Ancrage recommandeé : vis M10 pour la fixation au sol, en fonction de la
surface ef du projef.

Galvanised sfeel freated with Ferrus, a protective process fhat guaran-
fees high corrosion resistance. Legs with epoxy primer coating and black
wrought iron coloured polyester powder coated finish, and seat with epoxy
primer coafing and silver grey RAL 9006 polyesfer powder coated finish.
Recommended anchoring: M10 bolfs fo anchor fo the ground, depending
on the surface and the project.

Aco galvanizado com frafamento Ferrus, processo protetor do ferro que
garante uma éplima resisténcia & corrosdo. Pés com imprimagdo epoxi
e pintura poliéster em pd de cor prefo forja e assento com imprimacdo
epdxi e pintura poliéster em pd de cor cinza prata RAL 9006. Fixagdo
recomendada: parafusos de fixagdo ao solo M10 de acordo com o fipo
de superficie e projefo.

Ref A B H H1
UM392 1860 mm 580 mm 815 mm 450 mm
UM3928 1860 mm 370 mm 450 mm

UM3928 650 mm 580 mm 815 mm 450 mm

UM392B

UM392S

*CITYKIT










b

-3sen 5

Acero galvanizado con frafamiento Ferrus, proceso profector del hierro, que garan-
fiza una oplima resistencia a la corrosion. Acabado imprimacion epoxi y pinfura
poliéster en polvo color negro forja. Anclaje recomendado: Tomillos de fijacién al
suelo de M10 segun superficie Y proyecto. Opcional: Con apoyabrazos (UM-
379MA).

Acier galvanisé avec fratement Ferrus, procédé qui protege l'acier et garantit une
résistance oplimale & la corrosion. Finion couche primaire époxy ef thermolagua-
ge polyester noir de forge. Ancrage recommandé : vis M10 pour la fixation au sol,
en fonction de la surface el du projef. En option : avec accoudoirs (UM379MA).

Galvanised sfeel freafed with Ferrus, a profecfive process for iron fhat guarantees
high corrosion resistance. Epoxy primer coating and black wrought iron coloured
polyester powder coated finish. Recommended anchoring: M10 bolrs fo anchor
fo the ground, depending on the surface and the project. Opfional: With arm rest
(UM379MA).

AGo galvanizado com fratamento Ferrus, processo protefor do ferro que garante
uma olima resisténcia a corros@o. Acabamenio de imprimacdo epdxi e pinfura
poliéster em pd de cor prefo forja. Fixag&o recomendada: parafusos M10 para
fixagdo ao solo, de acordo com o fipo de superficie e projefo. Parafusos em ago
inoxidavel. Opcional: com apoio de bragos (UM379MA).

Ref. A B H H1 ol
UM379M 1660 mm 620 mm 805 mm 445 mm
UM3798 550 mm 620 mm 805 mm 445 mm

*Opcional / En Opfion / Optional / Opcional

ESSENKIT*

UM379S

Con apoyabrozos*
Avec accoudoirs*
With armresf*

Com apoio-bragos*



Valles

Pies de fubo de acero de 40 mm con asienfo y respaldo de plancha
de acero perforada de 2 mm de grueso y agujeros de (7 mm. Acabado
zincado eleciroliico por inmersion y pinfura poliésfer en polvo color gris
Ral-9006. Anclaje recomendado: Tomillos de fijacién al suelo de M10 se-
gun supefficie y proyecto.

Piefement rubulaire de & 40 mm avec assise ef dossier en fole d'acier per-
foré de 2 mm d'épaisseur et frous de J 7 mm. Finition zingage électrolyti-
que par immersion el thermologuage polyester gris RAL 9006. Ancrage
recommandé : vis M10 pour la fixafion au sol, en fonction de la surface
el du projef.

Legs made of J40 mm tube. Seat and backrest made of 2 mm-thick steel
sheef perforated with &7 mm holes. Eleciro-galvanised by immersion and
grey RAL 9006 polyester powder coated finish. Recommended anchoring:
M10 bolfs fo anchor to the ground, depending on the surface and the pro-
ject.

Pés em tubo de ago J40 mm com assento e encosfo de chapa de ago
perfurada com 2 mm de espessura e orificios de J7 mm. Acabamenio
zincado elefrolfico por imersdo e pintura poliéster em pd de cor cinza prata
RAL 9006. Fixacdo recomendada: parafusos M10 para fixagdo ao solo,
de acordo com o fipo de superficie e projefo.

Ref. A B H H1
UM340 2065 mm 760 mm 855 mm 430 mm
UM340D 2080 1500 850 430

UM3408 2080 mm 500 mm 470 mm 450 mm

-

UM340D

UM340B










Fundicion

Pies, respaldo y asienfo de fundicién diclil con imprimacion epoxi y pin-
fura poliurefano acrilico color negro forja. Anclaje recomendado: Tomillos
de fijacion al suelo de M10 segun superficie y proyecto.

Pigtement, dossier el siege en fonte ductile avec une couche primaire
époxy el une peiniure polyuréthane acrylique de couleur noir de forge.
Ancrage recommandé : vis M10 pour la fixation au sol, en fonction de la
surface ef du projet.

Legs, backrest and seat made of ductile iron with epoxy primer coating
and black wrought iron coloured polyurethane acrylic paint finish. Re-
commended anchoring: M10 bolts to anchor fo the ground, depending
on the surface and the project.

Pés, costas e assento de fundig@o dclil com imprimagdo epdxi e pin-
fura de poliurefano acrilico de cor prefo forja. Fixag@o recomendada:
parafusos M10 para fixagéo ao solo, de acordo com o tipo de superficie
e projefo.

A

= SRS S

Ref. A B H H1

UM388 2060 730 850 430

Fundicion Ductil
Fonte Ducfile
Ductile Iron
Fundigao Ductil

Granallado

Grenaillage
Shot Blasling
Granallado

Doble profeccion confra la oxidacion
Double profection conlre I'oxydation
Double protection against rusfing
Dupla protecad confra a oxidagao




A




eborg &

Madera fropical fratada con Lignus, profector fungicida, insecficida e
hidréfugo. Acabado color natural. Anclaje recomendado: Tornillos de
fijacion al suelo de M10 seguin superficie y proyecio.

Bois fropical traité avec Lignus, profecteur fongicide, insecticide et hy-
drofuge. Finifion feinte naturelle. Ancrage recommandé : vis M10 pour la UM3455
fixafion au sol, en fonction de la surface et du projet.

Made of fropical wood freated with Lignus, a fungicide, insecficide and
waferproofing agent. Natural colour finish. Recommended anchoring:
M10 bolts fo anchor fo the ground, depending on the surface and the
project.

Madeira fropical fratada com Lignus, profefor fungicida, inselicida e hi-
dréfugo. Acabamenio cor nafural. Fixacdo recomendada: parafusos
M10 para fixagdo ao solo, de acordo com o lipo de superficie e projeto.

A | | B

j_‘4
H

 —
‘H1
[—|

Ref. A B H H1
UM345 1650 mm 650 mm 915 mm 425 mm
UM3455 680 mm 650 mm 915 mm 425 mm

UM345L

UM345L 2300 mm 650 mm 915 mm 425 mm







Gavarres

Pies en plancha de acero corten de 8 mm. Tablones de seccidon 210 x 58
mm en madera de pino fratada en autoclave vacio-presion clase 4 contra
la carcoma, fermifas e insectos. Tomillerfa de acero inoxidable. Anclaje re-
comendado: Medianfe pemos.

Pietement en (6le d'acier Corfen de 8 mm. Laifes de secfion 210 x 58 mm
en boais de pin fraité en autoclave sous vide d'air (classe 4 contre les vers &
bois, les fermites el les insectes). Vis en acier inoxydable. Ancrage recom-
mandé : par boulonnage.

Legs in 8 mm unfreated sfeel sheet. 210 x 58 mm pine wood boards, vo-
cuum-pressure freafed in aufoclave (class 4) against woodworm, fermites
and insects. Stainless sfeel bolts. Recommended anchoring: With bolts

Pés em chapa de aco corfen de 8 mm. Tébuas de dimens@o 210 x 58 mm
em madeira de pinho com fratomento aufoclave classe 4 conira caruncho,
férmitas e insefos. Parafusos de ago inoxidavel. Fixacdo recomendada:
com parafusos.

Ref. A B H H1
UM311R 1850 mm 575 mm 810 mm 500 mm
UM311RS 460 440 800 440
UM3118 460 440 440 440
UM311RD 3680 440 800 440
UM311 1840 440 440 440

UM311R

UM311RD

UM311RS



Nordico

Madera de pino con trafamiento autoclave a vacio-presion clase 4 confra
la carcoma, fermitas e insecfos. Anclaje recomendado: Tomillos de fijo-
cion al suelo de M10 segun superficie y proyecto.

Bois de pin fraité en autoclave sous vide d'air (classe 4 conire les vers &
bois, les termites ef les insectes). Ancrage recommandé : vis M10 pour la
fixafion au sol, en fonction de la surface ef du projet.

Made of pine wood vacuum-pressure freafed in an aufoclave againsf
woodworm, termites and insects (Class 4). Recommended anchoring:
M10 bolfs fo anchor o the ground, depending on the surface and fhe
project.

Madeira de pinho com fralamento aufoclave classe 4 confra caruncho,
férmitas e insefos. Fixagdo recomendada: parafusos M10 para fixago
ao solo, de acordo com o fipo de superficie e projefo.

Ref. A B H H1

UM350 1750 mm 560 mm 855 mm 455 mm

Ofros productos en madera de pino
Aulres produifs en pin

Other products made of pinewood
Ofros productos em madeira de pinho

& U =






ILLES /LITTER BINS / PAPELEIRAS

—
|-

PAPELERAS / CORBI

XX VAIN- 6/8%d

vdvd - ONSFE9vd

0904Y - HOEEOVd

SM1d 094V - HHOSZ68Vd

I ZL9vd

vdNL * GE9Yd

VOILSY - | 6E9vd

NOWS - | #0vd

SALEVAYO L L9V




)

JINVINOSY - £23d

SN1d &Y INDHIO - £009vd ”

| JILOFTES FINVINOSYE - (JEZ0A
HYINOHIDINGS - G194 m

HILOT T3S 094V £60YH

vHNL - G80vd

Sy HILOF1ISOLY VI 070V
HYINOHIO - NOOSYA

o8 VI3 QZ9vd
NOd - 508vd







Argo plus  «

Cubeta de acero galvanizada reforzada con ventanilias realizadas con laser, con fratamien-
fo Ferrus, proceso profector del hierro que garanfiza una éplima resisfencia a la corrosion.
Imprimacion epoxi y pintura poliéster en polvo color gris RAL9006. Cubeta apoyada en una
esfructura maciza y base de anclaje triangular con agujeros para su fijacion al suelo. Anclaje
recomendado: Mediante fres permnos de expansion M8,

Corbeille en acier galvanisé renforcée avec des trous carrés réalisés au laser, avec Iraifement
Ferrus, procédé qui protége l'acier et garantit une résistance optimale & la corrosion. Couche
primaire époxy el thermolaquage polyester grise RALIO0B. Repose sur une siructure massive
ef une base d'ancrage friangulaire avec des frous pour la fixation au sol. Ancrage recommandé
: par frois boulons @ expansion M8.

Reinforced galvanised sfeel bin with laser-cur holes freated with Ferrus, a profective process
for iron thar guarantees high corrosion resistance. Epoxy primer coating and grey RAL 9006
polyester powder coated finish. Bin is supported by means of a solid strucfure and a friangular

anchoring base with holes fo fix if fo fhe ground. Recommended anchoring: Three M8 expan-
sion bolfs.

Balde de ago reforcado galvanizado com aberturas feifas a laser, com fratamento Ferrus,
processo de protegdo do ferro, que garante uma élima resisténcia & corrosdo. Imprimagao
epodxi e pinfura poliéster em poé cor de cinza RAL 9006. Balde apoiado numa esirutura maciga
e base friangular com orificios para a sua fixagdo ao solo. Fixagdo recomendada: Utilizagdo
de frés parafusos de expans@o M8.

p—
SRR (=1 -
% o o oo
O I
e
Ref A B H H1 E
PABI2SGRH 70L. 400 mm 400 mm 1024 mm 785 mm /

Facil vaciado
Facile vidage
Easy empiying
Facil espejo

PAGI2SGRH







Argo &

Cubeta de acero galvanizada reforzada con ventanillas realizadas con ldser, con fra-
famienfo Ferrus, proceso profector del hierro que garaniiza una éplima resistencia a la
corrosién. Imprimacion epoxi y pintura poliéster en polvo color gris RAL9006. Cubeta apo-
yada en una esfructura maciza y base de anclaje friangular con agujeros para su fijacion
al suelo. Anclaje recomendado: Mediante fres pemos de expansion M8.

Corbeille en acier galvanisé renforcée avec des frous carrés réalisés au laser, avec frai-
fement Ferrus, procédé qui prolege l'acier el garanliit une résisfance oplimale & la corro-
sion. Couche primaire époxy ef thermolaguage polyester grise RAL9006. Repose sur une
siructure massive el une base d'ancrage friangulaire avec des frous pour la fixation au sol.
Ancrage recommandé : par frois boulons & expansion M8,

Reinforced galvanised sfeel bin with laser-cul holes freated with Ferrus, a profective pro-
cess for iron that guarantees high corrosion resisfance. Epoxy primer coafing and grey
RAL 9006 polyester powder coated finish. Bin is supported by means of a solid sfructure
and a friangular anchoring base with holes fo fix it fo the ground. Recommended ancho-
ring: Three M8 expansion bols.

Balde de ago galvanizado reforgado com aberturas feifas a laser, com frafamento Ferrus,
processo de prote¢do do ferro, que garante uma ofima resisténcia a corros@o. Impri-
magdo epdxi e piniura poliéster em pd de cor cinza, RAL90OE. Balde apoiado numa
esfrutura maciga e base de fixagdo triangular com orificios para a sua fixagdo ao solo.
Fixacto recomendada: ufiizagdo de Irés parafusos de expansdo M8.

«~ B
e o ool
aw a a s T
L A A ¥
Ref. A B H H1
PABI3GR 450 385 mm 385 mm 825 mm 485 mm

Facil vaciado
Facile vidage
Easy empiying
Facil espejo

PABI3GR






Il

I

I

}

Blele

Fabricada en acero galvanizado con frafamiento Ferrus, proceso protector que garantiza
una oplima resistencia a la corrosion. Imprimacion epoxi y pinfura poliéster en polvo color
negro forja. Cuerpo con sombrero y cenicero incorporado. Anclaje recomendado: Me-
diante cuatro pernos de expansion M8.

Fabriquée en acier galvanisé avec fraitement Ferrus, procédé qui protége l'acier ef garantit
une résistance opfimale & la corrosion. Couche primaire époxy ef thermolaquage polyes-
fer noir de forge. Corps avec prolege-pluie ef cendrier incorporé. Ancrage recommande :
par quatre boulons & expansion M8.

Made from galvanised steel freated with Ferrus, @ protective process haf guarantees high
corrosion resisfance. Epoxy primer coating and black wrought iron coloured polyester
powder coated finish. Body with built in lid and ashiray. Recommended anchoring: Four
M8 expansion bolfs.

Fabricada em ago galvanizado com fratamento Ferrus, processo de profeg@o do ferro,
que garante uma élima resisténcia & corrosdo. Imprimagdo epdxi e pinfura poliéster em
po de cor preto forja. Corpo com chapéu e cinzeiro incorporado. Fixagdo recomendada:
ufilizag@o de quatro parafusos de expansdo M8

Relf. A B H H1
[ j PAB94SMO 951 535 mm 370 mm 1000 mm 780 mm
PAB94GE 195L. 660 mm 430 mm 1270 mm 1040 mm

PAB94GE

PAG94SMO (L)\'

Fécil vaciado
Vidage
Emplying
Facil despejo




Belluga .

Base de fundicion ductil, cuerpo de fundicién de aluminio con imprimacion epoxi Y pinfura
poliésfer en polvo color negro forja; cubela inferior en acero galvanizado. Aro superior en
color gris RAL 9006. Cierre de acero inoxidable. Anclaje recomendado: Mediante cuafro
pernos de expansion de M8.

Base en forte duclile, corps en fonte d'aluminium avec couche primaire époxy ef thermo-
loguage polyester nair de forge. Corbeille inférieure en acier galvanisé. Anneau supérieur,
couleur gris RAL 9006. Verrouillage en acier inoxydable. Ancrage recommandé : par qua-
fre boulons & expansion M8.

Duclile iron base, casf aluminium body with epoxy primer coafing and black wrought
iron coloured polyesfer powder coated finish; galvanised steel inner bin. Upper ring in
grey RAL 9006. Stainless steel lock. Recommended anchoring: Four M8 expansion bolfs.

Base de fundigéo ductil, corpo de fundigéio de aluminio com imprimagdo epdxi e pinfura
poliésfer em pod de cor prefo forja; balde interior em ago galvanizado. Aro superior em
cinza RAL9006. Fecho em ago inoxidavel. Fixagdo recomendada: utiizagdo de quatro
parafusos de expansdo M8.

H1

Ref. OA OB H H1

PABYT 401 390 mm - 825 mm 690 mm

Facil vaciaodo
Facile vidage
Easy emplying
Facil espejo










Vida XXl e

Cubefa abadfible y esfructura de acero zincado eleciroliico por inmersion con una
posterior capa de imprimacién epoxi Y pintura en poliéster al horno. Color negro
forja. Incorpora una iconografia. Base de anclaje y plefinas rectangulares con 2
agujeros de 312 mm para su fijacion en el suelo. Anclaje recomendado: Mediante
cuatro pemos de expansion de M8

Corbeille basculante ef structure en acier zingué élecirolylique par immersion avec
application ultérieure d'une couche primaire époxy el d'une peinfure polyester au
four. Teinfe noir de forge avec icone fonctionelle. Base d'ancrage el plats rectangu-
laires avec 2 frous de J 12 mm pour la fixation au sol. Ancrage recommandé : par
quaire boulons G expansion M8.

Hinged bin and structure made of sfeel eleciro-galvanised by immersion, with epoxy
primer and oven-baked polyester powder coated finish. Black wrought iron colour.
Includes graphic symbol. Anchoring base and rectangular sheets with ftwo (J12 mm
holes fo fix if to the ground. Recommended anchoring: Four M8 expansion bolts

Balde basculante e estrutura em ferro zincado eletroliico por imersdo, com posterior
camada de imprimagdo epdxi e pintura poliéster ao forno. Cor negro forja, com
iconografia. Base de fixagdo e placas retangulares com 2 orificios de (12 mm para
a sua fixagdo ao solo. Fixagdo recomendada: ufilizagdo de qualro parafusos de
expansto M8.

d

1l il

Ref A OB H H1

PABT9 401 485 mm 380 mm 840 mm 450 mm

*Opcional / En Opfion / Optional / Opcional

Blogueo de seguridad
Buttor de sécurité
Securily locking system
Blogueio de seguranca

PAGT9

Pies reforzados
Pieds reforcées
Reinforced gussef plates
Pés reforcados

Fécil vaciado
Facile vidage
Easy empiying
Facil espejo







Acero con fratamiento Ferrus, proceso profector del hierro, que garantiza una
oplima resisfencia ala corrosion. Imprimacion epoxi y pinfura poliéster en polvo
color negro forja. Anclaje recomendado: Mediante cuatro pernos de expansion

de M8.

F&

Acier avec raifement Ferrus, procédé qui protege le fer ef garantir une résisfance
opfimale & la corrosion. Couche primaire époxy ef thermolaguage polyester

noir de forge. Ancrage recommandé : Par quatre boulons & expansion M8.

Steeltreated with Ferrus, a protective process for iron that guarantees high corro-

sion resisfance. Epoxy primer coafing and black wrought iron coloured polyes-
fer powder coated finish. Recommended anchoring: Four M8 expansion bolrs

Aco com frafamento Ferrus, processo de protegao do ferro, que garante uma

Afima resisténcia & corrosdo. Imprimagdo epdxi e pintura poliéster em pd cor
prelo forja. Fixacdo recomendada: utilizagdo de quatro parafusos de expan-

sdo M8

]

H1

Rel

A

oB

H1

"ABO6

651

545 mm

440 mm

950 mm

520 mm

*Opcional / En Option / Optional / Opcional

PAGOG

Bloqueo de seguridad
Buttor de securite
Security locking system
Blogueio de seguranga

Pies reforzados

Pieds reforcées

Reinforced gusset plates
— Pés reforgados

Fécil vaciado
Facile vidage
Easy empiying
Facil espejo



Circular s

Cubela abafible de acero con agujeros friangulares con frafamiento Ferrus, proceso pro-
fector del hierro, que garantiza una épfima resistencia a la corrosidn. Imprimacion epoxi
y pintura poliéster en polvo color gris RAL 7011 (PABOOM). Cubeta apoyada en esfructura
de tubo de J40 mm con base de anclaje y plefinas rectangulares con dos agujeros de
12 mm para su fijacion en el suelo. Anclaje recomendado: Mediante cuafro pemos de
expansion de M8.0Opcional: Acero inoxidable pulido brillante (PAGOOMI).

Corbeille basculante en acier perforé & mofifs fiangulaires fraité avec Ferrus, un procédé
qui profege le fer ef garantit une résistance opfimale & la corrosion. Couche primaire époxy
el peinfure poudre polyester de couleur gris RAL 7011 (PAGOOM). Corbeille qui repose sur
une sfructure en fube de O 40 mm avec base d'ancrage ef plafs rectangulaires munis de
deux frous de (J 12 mm pour éfre fixée au sol. Ancrage recommandé : Par quatre boulons
& expansion M8. En opfion : Acier inoxydable poli brillant (PAGOOMI).

Stainless sfeel fipping bin with friangular holes, freated with Ferrus, a profective process
for iron fhat guarantees high resisfance fo corrosion. Epoxy primer and grey RAL 7011
polyester powder coating paint (PAGOOM). Bin supported on a (J40 mm fube sfructure with
an anchor base and rectangular bars with two 12 mm holes for fixing fo the ground.
Recommended anchoring: Four M8 expansion bolfs.Opfional: Shiny, polished sfainless
steel (PAGOOMI).

Balde abativel de ago com buracos riangulares e frafamento Ferrus, processo protefor do
ferro, que garante uma éfima resisténcia a corrosdo. Imprimagdo epdxi e pinfura poliéster
em pd de cor cinza RAL 7011 (PABOOM). Balde apoiado em esfrutura de fubo de 40
mm com base de fixagdo e barras refangulares com dois buracos de 312 mm para a
sua fixagdo no solo. Fixagdo recomendada: Através de quatro parafusos de expansdo
M8.0Opcional: Ago inoxidavel polido brilhante (PAGOOMI).

CIRCULARKIT
Ref. A OB H H1
PABOOM 60L 465 mm 375 mm 885 mm 525 mm
PAGOOMI 60L. 465 mm 375 mm 885 mm 525 mm

*Opcional / En Opfion / Optional / Opcional

PABOOM-PAGOOMO

PAGOOMI

Blogueo de seguridad
Butror de sécurié
Security locking sysfem
Blogueio de seguranca

Pies reforzados
Pieds reforcées
Reinforced gussef plafes
Pés reforgados

Fécil vaciado
Facile vidage
Easy emptying
Facil espejo



GTETAT A YA Y AW

J I.'.I.‘l'l'l".'-l.

- Wi AT aTaTaAW

T T e L TR TAT AW 4 F 4 W
TR e

. Ny

Jﬂ.l.'l‘. Ta Wk ra

A LS B
Ty e awgw
Rt

¥ LT W
YA AT aw







Semi-clrcular

Cubefa semi-circular abatible de acero con agujeros friangulares con frafamiento Ferrus,
proceso profector del hierro, que garantiza una éptima resistencia a la corrosion. Impri-
macién epoxi y pinfura poliéster en polvo gris RAL 7011 (PA616M). Cubela apoyada
en esfruciura de fubo de (J40 mm con base de anclaje y plefinas rectangulares con 2
agujeros de (J12 mm para su fijacion en el suelo. Anclaje recomendado: Mediante cuatro
pemnos de expansion de M8. Opcional: Acero inoxidable pulido brillante (PAG161)

Corbeille semi-circulaire basculante en acier perforé 0 mofifs friangulaires fraifé avec Fe-
rmus, un procédé qui profege le fer ef garantit une résistance opfimale & la corrosion
Couche primaire époxy el peinfure poudre polyester de couleur gris RAL 7011 (PAG16M).
Corbeille qui repose sur une sfructure en fube de 0 40 mm avec base d'ancrage ef
plafs rectangulaires munis de deux trous de © 12 mm pour éfre fixée au sol. Ancrage
recommandé : Par qualre boulons & expansion M8. En opfion : Acier inoxydable poli
brillant (PAG16l).

Semi-circular stainless sfeel fipping bin with friangular holes, freated with Ferrus, a protec-
five process for iron that guarantees high corrosion resisfance . Epoxy primer and grey
RAL 7011 polyester powder coafing paint (PA616M). Bin supported on a (40 mm fube
sfructure with an anchor base and rectangular bars with wo (12 mm holes for fixing to the
ground. Recommended anchoring: Four M8 expansion bolts. Optional: Shiny, polished VC4
stainless sfeel (PAG16l)

PAG16I

Balde semicircular abativel de ago com buracos friangulares e frafamento Ferrus, pro-
cesso protefor do ferro, que garante uma éfima resisténcia & corros@o. Imprimagao epoxi
e pinfura poliéster em pd de cor cinza RAL 7011 (PA616M). Balde apoiado em esfrutura
de fubo de J40 mm com base de fixaco e barras refangulares com dois buracos de
(J12 mm para a sua fixagdo no solo. Fixag@o recomendada: Arravés de quatro parafu-
s0s de expanstdo M8. Opcional: Ago inoxidével polido brilhante (PAG16).

PAG16M-PAG16MO

Pies reforzados
Pieds reforcées
Reinforced gussef plates
Pés reforcados

et A 5 o " Focwl\ voqodo
Facile vidage

PAG16I 401 540 mm 455 mm 905 mm 540 mm
Easy emplying
PAG16M 40L 540 mm 435 mm 905 mm 540 mm Fécll espejo

*Opcional / En Option / Optional / Opcional




Circular plus e

Cubeta abatible de acero con agujeros de (J5 mm zincado electroliico por inmer-
sidn con una posterior capa de imprimacion y pintura en poliéster al horno. Color
gris RAL 7011, Cubetta apoyada en esfructura de fubo de (J40 mm con base de
anclaje y pletinas rectangulares con dos agujeros de 012 mm para su fijacion
en el suelo. Anclaje recomendado: Medianfe cuafro pernos de expansion de M8,

Corbeille basculante en acier perforé (rous de O 5 mm), zingage électrolylique
par immersion avec application ulérieure d'une couche primaire époxy ef d'une
peinfure polyester au four. Couleur gris RAL 7011. Corbeille reposant sur une sfruc-
fure en fube de O 40 mm avec base d'ancrage el plars recfangulaires munis de VC4
deux trous de & 12 mm pour la fixation au sol. Ancrage recommandé : par quatre

boulons & expansion M8.

Steel hinged bin with 5 mm holes, eleciro-galvanised by immersion, with a pri-
mer coaf and an oven-baked polyester coar. RAL 7011 grey. Bin supported by a
(J40 mm fubular sfructure with an anchoring base, which has rectangular sheefs
with fwo (312 mm holes fo fix if fo the ground. Recommended anchoring: Four M8
expansion bolfs.

Balde basculante em ago com orificios de (J5 mm zincado elelrolfico por imer-
sdo, com uma posterior camada de imprimagdo e pinfura poliéster ao forno. Cor
cinza RAL 7011. Balde apoiado em esfrutura de tubo de (J40 mm, com base de PAGOOG
fixagdo e placas retangulares com dois orificios de 12 mm para a sua fixagdo
0o solo. Fixagdo recomendada: ufilizagdo de quafro parafusos de expansdo M8,

Blogueo de seguridad
Buitor de sécurité
Securify locking system
Blogueio de seguranca

I
R Pies reforzados
Pieds reforcées Facil vaciado
Reinforced gusset plates Facile v\'dqge
Pés reforcados Eosy empiying
Ref. A 0B H M Facil espejo
PABOOG 70L 540 mm 435 mm 885 mm 540 mm

*Opcional / En Option / Optional / Opcional









Sasculan

PAG23S PAG23DOS

Cubela cilindrica embufida y poste de & 60 mm de acero galvanizado, imprima-
cion epoxi Y pinfura poliéster en polvo color negro forja. Anclaje recomendado:
Mediante empoiramiento en el suelo. Opcional: Con sombrero

Corbeille cylindrique en f6le emboulie ef poleau de (J 60 mm en acier galvanisé,
couche primaire époxy ef thermolaguage polyester noir de forge. Ancrage recom-
mandé : encastrement dans le sol. En option : avec profége-pluie.

Buili-in cylindrical bin and & 60 mm galvanised sfeel post with epoxy primer coafing
and black wrought iron coloured polyester powder coated finish. Recommended
anchoring: Embedded in the ground. Optional: Lid available.

Balde cilindrico embutido e poste de 060 mm de ago galvanizado imprimacao VC4
epOxi e pintura poliéster em pod cor prefo forja. Fixacdo recomendada: colocado
direfamente no solo. Opcional: com sombreiro.

PAG23D

H1

Ref. A OB H H1
PAG23 301 400 mm 320 mm 1465 mm 460 mm o .
Facil vaciado
PAB23D 2x32L 738 mm 320 mm 1465 mm 460 mm Facile vidage
PAB23S 36L 400 mm 320 mm 1465 mm 460 mm Easy emplying
PAB23DOS | 2x32 738 mm 320 mm 1465 mm 460 mm Facil espejo

*Opcional / En Option / Optional / Opcional







avarres

Esfructura de acero corten de 6 mm, fablones de madera de pino fratada en
autoclave vacio-presion clase 4 conira la carcoma, fermitas e insectos. Cubela
interior de acero galvanizado. Anclaje recomendado: Mediante pernos.

Structure en acier Corlen de 6 mm et lattes de bois de pin fraités en aufoclave
sous vide d'air (classe 4 conire les vers O bois, les fermites ef les insectes). Cor-
beille inférieure en acier galvanisé. Ancrage recommandé : par boulonnage

6 mm Corten steel structure, pinewood boards vacuum-pressure freafed in an
aufoclave against woodworm, termites and insects. Galvanised steel inner bin,
Recommended anchoring: bols.

Estrutura em ago corten de 6 mm, tdbuas em madeira de pinho com fratamenfo
auroclave classe 4 confra caruncho, férmitas e insectos e balde inferior de ago
galvanizado. Fixagdo recomendada: ulizagdo de parafusos.

B 5
o =z
Fécil vaciado
A Facile vidage
7 Easy empiying
Ref A B H H1 Facil espejo
PAG11 1oL, | 440 460 1000 670







Salou s

Esfructura interior metdlica y exterior con veinticuatro lisfones de madera fropical de sec-
cion 40x35 mm - frafada con Lignus, protector fungicida, inseclicida e hidrofugo. Acaba-
do color caoba. Cubefa de acero galvanizado. Anclaje recomendado: Mediante fres
pernos de expansion de M8.

Structure intérieure méfallique, exiérieure avec vingi-quarre laffes en bois fropical, de sec
fion 40 x 35 mm, fraité avec Lignus, protecteur fongicide, insecticide ef hydrofuge. Finifion
feinte acajou. Corbeille en acier galvanisé. Ancrage recommandé : par frois boulons &
expansion M8,

Inner and oufer metal siruciure of ftwenfy-four 40x35 fropical wood slals freafed with Lig-
nus, a fungicide, insecficide and waterproofing agent. Mahogany colour finish. Galvani-
sed sfeel bin. Recommended anchoring: Three M8 expansion bolfs.

Estfrutura interior metdlica e exterior revestida com vinte e quatro ripas de madeira fropical
de secgdo 40x35 mm, frafada com Lignus, um profefor fungicida, inseficida e hidrofugo.
Acabamento cor de mogno. Balde em aco galvanizado. Fixagdo recomendada: ufili-
zagdo de trés parafusos de expanséo M8.

Ref OA OB H H1

PAG41 450 460 mm 700 mm 545 mm

PAG41

Facil vaciado
Facile vidage
Easy empiying
Facil espejo




SUSHCO

PE8
Madera de pino con frafamiento autoclave a vacio-presion clase 4 con-
fra la carcoma, fermitas e insectos. Acabado color natural. Tornillerfa en
acero inoxidable. Anclaje recomendado: Mediante fres pemos de ex-
pansion de M8,

; P206
Pin avec fraifement autoclave & vide - pression classe 4 contre les vers

G bois, les fermites ef les insectes. Finiion feinfe naturelle. Vis en acier
inoxydable. Ancrage recommandé : par frois boulons & expansion M8.

Pine wood vacuum-pressure freated in an autoclave against woodworm,
fermifes and insects. Natural colour finish. Hardware in stainless steel.
Recommended anchoring: Three M8 expansion bols.

Madeira de pinho com frafamenio aufoclave classe 4 conira caruncho,
férmifas e insefos. Acabamentos em cor natural. Parafusos em ago inoxi-

davel. Fixagao recomendada: utlizagdo de frés parafusos de expansdo ‘
M8,

P143
PABG39T
— B
I T
o L v
A

Facil vaciaodo
c ! Facile vidage
Ref. A OB H H1 Easy emplying

PAB39T 9oL 520 mm | 480 mm 910mm | 820mm Facil espejo










TUHDQ &

Acero zincado electralifico por inmersidn con una posterior capa de imprimacion epoxi
y pinfura en poliéster al hormo color verde RAL 6005. Cubela de acero galvanizado.
Anclaje recomendado: Mediante fres pernos de expansion de M8

Acier zingué électrolytique par immersion avec application ultérieure d'une couche pri-
maire époxy ef d'une peinture polyester au four. Couleur vert RAL 6005. Corbeille en acier
galvanisé. Ancrage recommandé : par frois boulons & expansion M8

Steel electro-galvanised by immersion with epoxy primer coating and oven-baked po-
lyester coaring. Green RAL 6005. Galvanised steel bin. Recommended anchoring: Three
M8 expansion bolfs

Aco zincado elefrolifico por imersdo com posterior camada de imprimagdo epdxi e pin-
fura poliéster ao forno de cor verde, RAL 6005. Balde em ago galvanizado. Fixagdo
recomendada: ullizagdo de frés parafusos de expanséo M8.

Ref OA B H H1

PAB35 50L 560 mm - 850 mm 800 mm

Facil vaciado
Facile vidage
Easy empiying
Facil espejo

PAG35




Kupe

Hormigdn prefabricado color gris granfico de aspecto liso. Aro para fijar la bolsa de
acero zincado con imprimacion epoxi Y pintura poliéster en polvo color negro. Anclaje
recomendado: Apoyado por su propio peso. Opcional: Con fapa.

Béton préfabriqué gris granite, aspect lisse. Anneau pour fixer le sac plastique en acier
zingué avec couche primaire époxy et thermolaguage polyester noir. Ancrage recom-
mandé : Posé a ferre. En opfion : Avec couvercle

Pre-cast smooth granite grey concrefe. Ring fo hold the bag made of galvanised sfeel
with epoxy primer coafing and black paint. Recommended anchoring: free-sfanding
Optional: With lid.

Cimento pré-fabricado de cor cinzento granifico com aspefco liso. Aro para fixar o saco
em aco zincado com imprimagdo epdxi e pinfura poliéster em pd de cor cinza. Fixagdo
recomendada: Apoiado pelo seu proprio peso. Opcional: com tfampa

PAGT72

Ofros productos Kube
Aulres produits Kube “ . —

Fécil vaciodo

Facile vidage

Easy emplying

Other products Kube
= Otros productos Kube
A I
© Ref A B H
PAGT2 1401 500 mm 500 mm 880 mm
A PABT72S 1401 500 mm 500 mm 1085 mm

Facil espejo

PAG72S






sileNelfe

Cubeta de acero con agujeros de 5 mm de diémelro, zincada electrolfico por inmersién
con una posferior capa de imprimacion epoxi Y pinfura en paliéster al homo. Color gris
RAL 7011. Cubetfa provisfa de un aro para fijar la bolsa. Anclaje recomendado: Mediante
fres permnos de expansion M8.Opcional: boca superior con color especifico para cada
fipo de residuo: papel, embases, vidrio... También opcién con fapa.

Corbeille en acier perforé (rous de J 5 mm), zingage électrolylique par immersion avec
application ulérieure d'une couche primaire époxy el d'une peinture polyester au four.
Couleur gris RAL 7011. Anneau pour fixer le sac plaslique. Ancrage recommandé : par
frois boulons & expansion M8. En opfion : collecteur supérieur avec couleur spécifique
pour chaque type de déchet : papiers, plastiques, verre... Possible également avec cou-
vercle.

Steel bin with &5 mm holes, electro-galvanised by immersion, with an epoxy primer coat
and an oven-baked polyester coaf. RAL 7011 grey. The bin is equipped with a ring fo hold
fhe bag. Recommended anchoring: Three M8 expansion bolrs. Opfional: Top opening
with a specific colour for each fype of waste: paper, plastic, glass, etc. Also available
with alid.

Balde em ago com orfficios de 5 mm de diémelro, zincado elefroliico por imersGo com
imprimagdo epdxi e pintura poliéster ao forno. Cor cinza RAL7011. Balde equipado com
um aro para fixar o saco. Fixagdo recomendada: ulilizagdo de frés parafusos de expan-
s@o M8. Opcional: boca superior com cor especifica para cada fipo de residuo: papel,
cardo, vidro... Também com a opgdo de tampa.

Ref OA B H H1

PAB20 110L 435 mm - 930 mm 860 mm

PAG20T 1100 435 mm - 975 mm 860 mm

PAG20T

Facil vaciaodo
Facile vidage
Easy emplying
Facil espejo







g
L=
L3
u._l

H

F.
o
-
a
E
£
:
b

L
L P o B o

ﬁm._u.m...u...u..r \ " % ..._a....._.:;

LY
" e

s

"

by

A
.@\\wﬁﬁﬁ

et
:

P~
by ¥ 8ok
- B .#Jru._-.
- b N LN 3
,. e At Sptd
r el -..' ey
A --'l-l ‘.—- - ‘-
. i

L
et
‘ 5‘*"#"



10 aro select

Cubela de acero con agujeros de 5 mm de diémefro zincada elec-
frolfico por inmersién con una postferior capa de imprimacion epoxi
y pintura en poliéster al homo. Cuerpo color gris RAL 7011. Cubela PAG2OTM PAG2OTV PAG2OTAZ PAG2OTA
provista de un aro para fijar la bolsa. Boca superior con color espe-
cifico para cada fipo de residuo: papel, envases, vidrio... Anclaje
recomendado: Mediante fres pernos de expansion M8. Opcional:
Con fapa.

Corbeille en acier perforé (frous de & 5 mm), zingage élecirolyfique
par immersion avec applicafion ultérieure d'une couche primaire
époxy ef dune peinture polyester au four. Corps de couleur gris RAL
7011, Anneau pour fixer le sac plasfique. Collecteur supérieur avec
couleur spécifigue pour chaque fype de déchet : papiers, plasfiques,
verre... Ancrage recommandé : par frois boulons & expansion M8. En
option : Avec couvercle.

Steel bin wih 5 mm holes, elecfro-galvanised by immersion with
an epoxy primer coal and an oven-baked polyesfer coat. Body in
grey RAL 7011. The bin is equipped with a ring fo hold the bag. Top
opening with a specific colour for each fype of waste: paper, plastic,
glass, efc. Recommended anchoring: Three M8 expansion bolfs.
Opfional: With lid.

Balde em ago com orfficios de 5 mm de diémetfro, zincado elefroliti-

€O por imers@o com imprmagdo epoxi e piniura poliéster ao fomno. PAG20M PAG20V PAG20AZ PAG20A
Corpo em cinza RAL7011. Balde equipado com um aro para fixar o

saco. Boca superior com cor especfica para cada fipo de residuo:

papel, cartdo, vidro... Fixacdo recomendada: ufilizagdo de frés pa-

rafusos de expans@o M8. Opcional: com fampa.

Ref, OA B H H1
PAG20A RAL1021 110l 435 mm - 930 mm 860 mm
PAB20AZ RAL5012 110L. 435 mm - 930 mm 860 mm
PAG20V RALE029 1100 435 mm - 930 mm 860 mm
PAG20M RAL8024 110 435 mm - 930 mm 860 mm
PAG20TA RAL1021 1100 435 mm - 975 mm 860 mm
PAG20TAZ ~ RALS012 | 110L. | 435mm 975mm | 860 mm FGC“‘ VGF‘GdO
Facile vidage
PAB20TV RAL6029 110L. 435 mm 75 mm 860 mm .
Easy empiying
PAG20TM RAL8024 110L. 435 mm - 930 mm 860 mm Facll espejo







Basculante selectir

PAG23DSS

Cubeta cilindrica galvanizada con imprimacion epoxi y pinfura poliéster en polvo color ne-
gro forja para el poste, una cubefa en amarillo RAL 1021 y una cubela en azul RAL 5012.
Poste para su fijacion en fubo de acero. Anclaje recomendado: Mediante empoframiento
en el suelo. Opcional: Con fapa

Corbeille cylindrique en tdle galvanisée avec couche primaire époxy ef thermolaquage
polyester pied noir de forge pour le pofeau, une corbeille jaune RAL 1021 ef une corbeille
bleue RAL 5012. Pofeau de fixation en fube d'acier. Ancrage recommandé : par encastre-
ment dans le sol. En option 1 Avec couvercle.

Galvanised cylindrical bin with an epoxy primer coating and a black wrought iron coloured
polyester powder coated finish; one bin in yellow RAL 1021 and another in blue RAL 5012.
Posf fo be atfached fo a sfeel tube. Recommended anchoring: Embedded in the ground
Optional: With lid.

Balde cilindrico galvanizado, imprimagdo epdxi e pintura poliéster em pd cor prefo forja
para o poste. Um balde em amarelo RAL 1021 e oulro em azul RAL 5012. Posfe de
fixagdo em fubo de ago. Fixagdo recomendada: colocado direlamente no solo.

ﬂ
[

0 00 Jooaqn

PAG23DS

dl

Facil vaciado

Ref. A OB H H1 S
Facile vidage
PAB23DS 2x32L 745 mm 320 mm 1480 mm 460 mm EOSQ emprgimg
PA623DSS 2x32L 745 mm 320 mm 1480 mm 460 mm Facil espejo




Turo

Cubeta de acero de gran capacidad con dos grandes agujeros para facilifar la infroduccion de
residuos. Con frafamienio Ferrus, proceso protector del hierro, que garaniiza una éplima resis-
fencia a la corrosion. Zincado electrolitico por inmersién con una posferior capa de imprimacion
epoxi y pintura poliéster en polvo color azul RAL5012 y amarillo RAL1021. Color especffico para
cada fipo de residuo: papel, envases... Varilla inferior de acero para la sujecion de la bolsa.
Esfructura con agujeros para su fijacion al suelo. Ancloje recomendado: Mediante cuafro pemos
de expansion M8.

Corbeille en téle renforcée. La capacité du bac est accrue par un collecteur en parti haute pour
facilifer linfroduction de déchets. Avec fraitement Ferrus processus profecteur de l'acier qui go-
ranfit une résistance optimale & la corrosion. Finifion primaire époxy + thermolagquage polyester
bleu RAL5012 ef jaune RAL1021. Couleur spécifique pour chaque fype de décher: papiers, plas-
fiques. Structure avec des frous pour le scellement au sol. Scellement recommandé: Par quatre

vis d'expansion M8.

Reinforced steel sheer bin. Ferrus freaiment, a protector process which guarantees a high resis-
fance fo the rust conforming fo the spray salk fog fest. Epoxy primer coafing and polyester blue
RAL5012 and yellow RAL1021 powder coating finish. Top part featuring specific colour according
fo the waste collection type: paper, plastic. Structure with holes for its fixing fo the floor. Recommen-
ded anchorage: Four M8 expanding bolts for anchoring fo the ground.

Balde de elevada capacidade, em chapa reforcada com dois grandes orificios para facilifar a
colocag@o dos resfduos. Com frafamento Ferrus, processo de profegdo do ferro, que garante
uma étima resisténcia & corros@o. Zincado eletrolitico por imers@o com primdrio em epdxi e
pinfura poliéster em pd cor azul RAL 5012 e amarelo RAL1021. Cor especffica para cada fipo
de residuo: papel, embalagens. Esiruiura com orificios para a sua fixagéo ao solo. Fixagdo
recomendada: Utiizagdo de quairo pemos de expansdo M8.

Ref. A B H H1

PAB85 90L. 1100 mm 400 mm 1090 mm

Facil vaciaodo
Facile vidage
Easy emplying
Facil espejo

PAGBS




Argo selectll «

Cubeta de acero galvanizada reforzada con ventanillas realizadas con laser,
con frafamienio Ferrus, proceso profector del hierro que garantiza una épli-
ma resisfencia a la corrosion. Imprimacion epoxi Y pinfura poliésfer en polvo
color especffico para cada fipo de residuo: papel, envases, vidrio... Cubeta
apoyada en una esfruciura maciza Y base de anclaje friangular con aguje-
ros para su fijacion al suelo. Anclaje recomendado: Mediante fres pernos de
expansion M8.

Corbeille en acier galvanisé renforcée avec des frous carrés réalisés au laser,
avec fraifement Ferrus, procédé qui protege l'acier ef garantit une résistance
oplimale & la corrosion. Couche primaire époxy ef thermolaquage polyester
avec couleur spécifique pour chague fype de décher : papiers, plastiques,
verre... Repose sur une sfructure massive ef une base d'ancrage friangulaire
avec des frous pour la fixation au sol. Ancrage recommandé : par frois bou-
lons & expansion M8.

Reinforced galvanised steel bin with laser-cut holes freated with Ferrus, a pro-
fective process for iron that guarantees high corrosion resisfance. Epoxy primer
coafing and polyester powder coated finish with specific colour for each fype of
wasfe: paper, plastic, glass, efc. Binis supported by means of a solid sfructure
and a friangular anchoring base with holes fo fix if fo the ground. Recommen-
ded anchoring: Three M8 expansion bols.

Balde de ago galvanizado reforgado com aberturas feitas a laser, com
frafamento Ferrus, processo de protegdo do ferro, que garante uma ofima
resisténcia & corrosdo. Imprimagdo epdxi e pinfura poliéster em pd de cor
especffica para cada fipo de residuo: papel, cartdo, vidro... Balde apoiado
numa esfrufiura macica e base de fixagdo friangular com orificios para a sua
fixagdo ao solo. Fixago recomendada: ufilizagéo de trés parafusos de ex-
pansao M8.

PABI3A

.
oo | E
o o |« T
Ref. A B H H1
A | Pasoav 45 | 385mm | 385mm | 825mm 485 mm
PABI3AZ 451 385 mm 385 mm 825 mm 485 mm
PABI3A 450 385 mm 385 mm 825 mm 485 mm
PABI3M 450 385 mm 385 mm 825 mm 485 mm

PABI3AZ

PAGI3M

Facil vaciado
Facile vidage
Easy empiying
Facil espejo

PABI3V







FUENTES / FONTAINES / DRINKING FOUNTAINS / BEBEDOUROS

SYILY " L/LLGIN

L3S £28AN

WNA " OFSIAN

INFHL " 0ESINN

g7 [ L

ILNO4 805N

ONIOgvVd 205N

Jy—
—

VA93 T WL/BLSEAN







Trev 5

Cuerpo y parte superior en acero zincado. Parte superior con imprima-
cion epoxi y pinfura poliéster en polvo color gris plata RAL 9006. Parte
inferior (base) con imprimacion epoxi Y pinfura poliéster en polvo color
marrén RAL 8019. Griferfa ergondmica para nifios (fuerza limifada) y tiem-
po indispensable de duracion del chorro del agua. Instalacion: Base de
susfentacion

Corps ef partie supérieure en acier zingué. Partie supérieure avec couche
primaire époxy el thermolaguage polyester gris argent RAL 9006. Partie
inferieure (base) avec couche primaire époxy ef thermolaquage polyester
marron RAL 8019. Robinef ergonomique pour enfants (pression réduite) et
durée limitée du débir d'eau. Insfallation : Base d'appui.

Galvanised steel body and top. Upper part: epoxy primer coaling and
silver grey RAL 9006 polyester powder coated finish. Lower part (base):
epoxy primer coating and brown RAL 8019 polyester powder coated fi-
nish. Ergonomic child-friendly fap (limifed force) and timed water jef. Fi-
fing: Support base.

Corpo e parte superior em ago zincado. Parte superior com imprimagao
epOXi e pinfura poliésfer em pod de cor cinza prafa, RAL 9006, Parte inferior
(base) com imprimagdo epoxi e pinfura poliéster em pd de cor casfanho,
RAL 8019. Torneira ergondmica para criangas (forca limitada) com du-
ragéo limitada do jafo de égua. Instalacdo: Base de susfentagdo.

UMB3eP

(5]
[S)

UMB30

A

1

1 &

Ref. A B H H1

UMB30 420 200 1000

(<]
>
[S]

UMB30P 420 200 700

@
o)
S




Columna friangular y salpicaderos en inoxidable brillante y safinado. Ma-
dera frafada con profector lignus fungicida, insecticida e hidréfugo. An-
claje recomendado: Arornillada mediante 3 pernos de expansion M12,

Colonne friangulaire, robinelterie et réceplacle en acier inoxydable. Bois
fraité avec Lignus, profecteur fongicide, insecticide et hydrofuge. Ancrage
recommandé : Par 4 boulons a expansion M12.

Triangular column and splash guard in shiny, glossy stainless steel. Wood
freated with Lignus, a fungicide, inseclicide and waterproofing agent. Re-
commended anchoring: Three M12 expansion bolfs.

Coluna friangular e bandeja em ago inoxidavel brilhante e acefinado.
Madeira frafada com profefor Lignus, fungicida, inseficida e hidréfugo.
Fixag@o recomendada: Aparafusado com 3 parafusos de expansdo
M12.

Ref. A B H H1
UM540 700 550 1040 855

Bl¥le] 5

UM540




Cuerpo en acero galvanizado UM527. Parte superior y griferia en acero
inoxidable. Insfalacién: Base de sustentacion y acomefida empofrable.

Corps en acier galvanisé UM527. Parfie supérieure ef robinelterie en acier
inoxydable. Installation : Base d'appui ef raccord d'eau & encastrer.

Galvanised sfeel body UM527. Upper secfion and fap in sfainless sfeel.
Fitting: Embedded support base and service line.

Corpo em ago galvanizado UM527. Parfe superior e forneiras em ago
inoxidavel. Instalagdo: base de sustentagéo e instalagdo embutivel.

UM527 UM527GR

Acero galvanizado Acero galvanizado pinfado
Acier galvanisé Acier galvanisé peint
Galvanised sleel Galvanised and painted sfeel
Ago galvanizado Aco galvanizado pintado

( | : UMS27GR
I—

Ref. A B H H1

i

UMs27 400 150 1000 -




[OfS &

Cuerpo cuadrado de hierro con fratamiento Ferrus, proceso protector
del hierro que garantiza una opfima resistencia a la corrosion. Acabado
imprimacién epoxi y pintura poliéster en polvo color gris martelé. Pletina
fijacion-grifo pulsador de acero niquelado (UM510G). Reja sumidero de
fundicion ductil y marco angular de acero acabado pinfura poliésfer al
horno color negro forja

Corps carré en fer raité avec Ferrus, un procédé qui protege le fer et ga-
ranlfit une résisfance opfimale & la corrosion. Finifion couche primaire épo-
Xy ef peinfure poudre polyester de couleur gris martelé. Plat fixation-robinet
poussoir en acier nickelé (UM510G). Grille avaloir en fonte ductile ef cadre
friangulaire en acier, finifion thermolaquage polyester noir de forge.

Square iron body freated with Ferrus, a protective process for iron that gua-
ranfees high corrosion resistance. Epoxy primer and grey martele polyes-
fer powder coated paint finish. Fixing bar-push butfon fap in nickel-plated
steel (UM510G). Duclile cast iron drain grate and steel corner frame with
oven-baked black wrought iron coloured polyester paint finish.

Corpo guadrado de ferro com fratamento Ferrus, processo profetor do
ferro que garante uma ofima resisténcia a corrosdo. Acabamento de im-
primagdo epdxi e pinfura poliéster em pd de cor cinza martelado. Barra
fixagdo-tomeira pulsador de ago niquelado (UM510G). Grelha de esgoto
de fundicéo ductil e esfrutura angular de ago com acabamento de pinfura
poliésfer no forno de cor prefo forja.

[
<

a2l
(93]
(&)
(&)
(]
(o)
@
a
]

=z
o
N
<
w
)
IS
>
=)
@
o3
s

UMB11/1M

UMB11/2M







s I iy

e A
o ¥ '.":" e ﬁ.h"ﬂ:ﬂ? F §

S S Ll y i

S o SRR O

il .
S
:

..:‘:-‘_ b vt ]




T

—gea &

Cuerpo de acero de (3190 mm con tratamiento Ferrus, proceso profector
del hierro, que garantiza una éplima resistencia a la corrosién. Acabado
imprimacién epoxi y pintura poliéster en polvo color verde RAL 6005. Base
con soporte Y reja sumidero de fundicion dctil. Grifo pulsador (UM510G)
con soporte en acero niquelado.

Corps en acier de 0 190 mm, fraité avec Ferrus, procédé qui protege le fer
ef garantit une résisfance optimale & la corrosion. Finifion couche primaire
époxy ef peinture poudre polyester de couleur vert RAL 6005. Base avec
support el grille avaloir en fonfe ductile. Robinef poussoir (UM510G) avec
support en acier nickelé,

(J190 mm steel body freated with Ferrus, a protective process for iron that
guarantees high resistance fo corrosion. Epoxy primer and green RAL
6005 polyester powder coated paint finish. Base with support and drain
grate in ductile cast iron. Push button tap (UM510G) with nickel-plated sfeel
support.

Corpo de ago de 190 mm com fratfamento Ferrus, processo protetor
do ferro que garanfe uma éfima resisténcia a corrosdo. Acabamento de
imprimagdo epdxi e pinfura poliéster em po de cor verde RAL 6005. Base
com suporte e grelha de esgofo de fundicdo ductil. Torneira pulsador
(UM510G) com suporte em ago niguelado.

H1

UMB10/1M



SArcino

Fuente de fundicion con imprimacion epoxi y pintura de poliuretano color negro forja.
Grifo pulsador de laton (UM502G). Anclaje recomendado: Mediante cualro permos
de expansion de M14.

Fonfaine en fonfe avec couche primaire époxy el thermolagquage polyester noir de
forge. Robiner poussoir en laiton. (UM502G). Ancrage recommandé : Par quatre
boulons & expansion M14.

Cast iron drinking fountain with primer coafing and ftwo coafs of black wrought iron
coloured paint. Brass push button fap (UM502G). Recommended anchoring: Four
M14 expansion bolfs.

Fonfe de fundigdo com imprimagdo e duas camadas de pinfura para um aca-
bamento de cor prefo forja. Tormeira com pulsador de latéo (UM502G).  Fixagdo
recomendada: ullizagdo de quafro parafusos de expansdo M 14,

Ref. A B C D E H H1
UM502/1 630 395 380 330 300 1250 550

UM502/1






3
i

3




'NOX

Acero inoxidable, acabado pulido brillante. Insfalacién: Mediante fres per-
nos de expansion de M8,

Acier inoxydable, finifion poli brillant. Installation : par 3 boulons & expan-
sion M8.

Shiny, polished stainless steel finish. Fitting: Three M8 expansion bolts.

Aco inoxidavel com acabamento polido brilhante. Insfalagdo: utilizagdo de
frés parafusos de expansdo M8.

Ref. A B H H1

UMsesl 370 - 935 -

UMmses8l






golali

Fundicion con imprimacion epoxi y pinfura al horno poliéster color negro forja.
Instalacion: Mediante fres pernos de expansion de M8.

Fonte avec couche primaire époxy et thermolaguage polyester noir de forge.
Installation : Par 3 boulons & expansion M8,

Cast iron with primer coaling and two coats of black wrought iron coloured
paint finish. Fiing: Three M8 expansion bolrs.

Fundig@o com imprimagdo e duas camadas de pinfura de cor prefo forja.
Instalagéo: Utilizagao de trés parafusos de expansdo M8

Fundicion
Fonte
Cast iron

Fundicao UM508

Hormgon*
Béron*
Concrefe *
Betdo*

| H |
‘ H1
D]]:@
> W
g

UM508L
Ref A B H H1 Pulsador lateral * UM509
7 N UMs08 0310 200 085 155 Poussoir
Push *
N~ UM509 310 290 850 140 o

*Opcional / En Option / Optional / Opcional



COMPLEMENTOS / COMPLEMENTS / COMPLEMENTS / COMPLEMENTOS

| |

.*l
-

O3V~ 904G

OvHa - TLOSEA

vITv- LOLEA

ABN - OZINEA —]
—
—
—xp
P =)
—F
.\huu
T
<
o 1 5]
b
.ﬂ'l

OINO - LOEA

()

- WZLEWN

SIHEVAYD- | LEWA

HINOId - DBZINEIA

TYSHIANN- LONGA

JAIH -LO0A

NIVINOD - ISSD

WA~ GEVEA




Omega

Acero zincado electrolfico. Acabado imprimacion epoxi y pinfura po-
liéster en polvo color gris RAL 9006. Anclaje: Mediante 4 pernos de
expansion M8. Opcional: En acero inoxidable (VBO1I).

Acier zingage élecirolyfique. Finifion couche primaire époxy ef thermo-
laquage polyester gris RAL 9006. Ancrage : Par 4 boulons G expansion
M8. En option : En acier inoxydable (VBO1I).

Elecfro-galvanised sfeel. Epoxy primer and grey RAL 9006 polyester
powder coated finish. Anchoring: Four M10 expansion bolts. Optional:
In stainless steel (VBO1I).

Ago zincado eletrolifico. Acabamento de imprimagdo epdxi e pintura
poliéster em pd de cor cinza RAL 9006. Fixagéo recomendada: ufili-
zacGo de 4 parafusos de expansdo M8, Opcional: Em ago inoxidavel
(VBO1I).

g | 3

of o
Ref. A B H
VBO1 905 100 695

VBO1I 905 100 695




Acero zincado elecirolifico. Acabado imprimacion epoxi y pin-
fura poliéster en polvo color gris RAL 9006. Anclaje: Mediante 4
pernos de expansion M8,

Acier zingage électrolytique. Finiion couche primaire époxy et
thermolagquage polyester gris RAL 9006. Ancrage : Par 4 bou-
lons & expansion M8,

Elecfro-galvanised steel. Epoxy primer and grey RAL 9006 po-
lyester powder coated finish. Anchoring: Four M10 expansion
bols.

Aco zincado elefrolitico. Acabamento de imprimagao epdxi e
piniura poliéster em pé de cor cinza RAL 9006. Fixacto reco- VBM20R RAL 3004 VBM20 RAL 9006

mendada: utilizagdo de 4 parafusos de expansto M8.
| | | l
| |

VBM20

Ref. A B H

VBM20 2040 mm 435 mm 425 mm




Alfo

Acero zincado electrolifico. Acabado imprimacion epoxi y pinfura
poliéster en polvo color gris RAL 9006. Anclaje: Mediante 4 per-
nos de expansion M8.

Acier zingage électrolylique. Finiion couche primaire époxy et
thermolagquage polyester gris RAL 9006. Ancrage : Par 4 bou-
lons & expansion M8.

Electro-galvanised sfeel. Epoxy primer and grey RAL 9006 po-
lyester powder coated finish. Anchoring: Four M10 expansion
pbols.

Aco zincado elefrolffico. Acabamenio de imprimagdo epdxi e
pinfura poliésfer em pd de cor cinza RAL 9006. Fixagdo reco-
mendada: utilizagdo de 4 parafusos de expansto M8.

Ref.

B

VBTO1

260 mm

1300 mm

365 mm

VBT01V RAL 6029

VBTO1R RAL 3004

VBT01 RAL 5012



rac

Asiento de madera fropical de 280 x 175 x 35mm frafada con Lignus,
profecfor fungicida, inseclicida e hidréfugo. Acabado color caoba. Cuerpo
de acero zincado electroliico con imprimacion epoxi Y pintura poliéster en
polvo color gris plata RAL 9006. Anclaje recomendado: Mediante cuafro
pemnos de expansion M8 o empolrado en el suelo.

Siege en bais fropical de 280 x 175 x 35mm fraifé avec Lignus, protecteur
fongicide, insecficide et hydrofuge. Finition teinte acajou. Corps en acier
avec zingage électrolyfique ef thermologquage polyester gris argent RAL
9006. Ancrage recommandé : Par qualre boulons & expansion M8 ou
encasiré dans le sol.

Tropical wood seat measuring 280 x 175 x 35mm, freated with Lignus, a
fungicide, insecticide and waterproofing agent. Mahogany colour finish.
Eleciro-galvanised sfeel body with epoxy primer coafing and silver grey
RAL 9006 polyester powder coated finish. Recommended anchoring: Four
M8 expansion bolfs or embedded in the ground.

Assento em madeira fropical de 280 x 175 x 35mm, frafada com Lignus,
um protefor fungicida, inseficida e hidréfugo. Acabamento em cor mogno.
Corpo de ferro zincado elefroliico com imprimagdo epdxi e pintura poliés-
fer em pd de cor cinza prafa RALIDO6. Fixagdo recomendada: ulilizagéo
de quatro parafusos de expans@o M8 ou embutido no solo.

H1

Ref. A B

T
B

VBS01L 600 280 900 700

VBSO1L




Arvelo

Acero galvanizado en caliente. Anclaje: Mediante pernos de expan-
sion M8,

Acier galvanisé & chaud. Ancrage : Par boulons & expansion M8.

Hol-dip galvanised sfeel. Anchoring: M8 expansion bolfs.

Aco galvanizado a quente. Fixagdo: Uilizacdo de parafusos de
expansdo M8.

Ref, A

@
(@]
I

VBF06 1800 550 350 500




Jniversal

Acero galvanizado. Anclaje recomendado: Mediante anclaje en hor-
migén. Opcional: En acero inoxidable (VBUO1).

Acier galvanisé. Ancrage recommandé : Ancrage dans le béton. En
opfion : En acier inoxydable (VBUO1I).

Galvanised sfeel. Recommended anchoring: Concrete foundation.
Optional: In stainless steel (VBUQT).

Aco galvanizado. Fixagto recomendada: Chumbado no cimento.
Opcional: Em ago inoxidavel (VBUO1I).

==

H1

LY e e——)}

Ref. A B H H1 [ ]

VBUO1 790 90 955 750 \‘\

VBUO1I 790 090 955 750 \»7——/




PICNIK

Madera de pino frafada en aufoclave a vacio-presion clase 4 con-
fra la carcoma, fermitas, insectos. Tablones de 1940 x 95 x 45mm.

Bois de pin fraif¢ en auroclave & vide-pression classe 4 conire
les vers @ bois, les fermites ef les insectes. Laltes de 1940 x 95
X 45mm.

Pine wood vacuum-pressure treated in an autoclave (Class 4)
against woodworm, fermifes and insecfs. 1940 x 95 x 45mm wood
boards.

Madeira de pinho com fratomenfo aufoclave classe 4 confra o
caruncho, térmitas e insefos. Tabuas de 1940 x 95 x 45mm.

VRM200

P142-143 P86-87 F58-59 P190-191 P190-191

C A N

IS [ 1

IR =T

T

B

Ref. A B C H H1

VRM200 1940 1680 800 765 440







e

Gavarres

Madera de pino frafada en aufoclave a vacio-presién clase 4 contra
lo carcoma, fermitas e insecfos. Tomilleria de acero inoxidable. Pies en
plancha de acero corfen de 8 mm. Anclaje recomendado: Mediante per-
nos de expansion M10

Bois de pin Iraité en autoclave sous vide d'air classe 4 contre les vers &
bois, les fermites ef les insecles. Vis en acier inoxydable. Piefement en
fole d'acier Corfen de 8 mm. Ancrage recommandé : Par des boulons
& expansion M10

Pine wood vacuum-pressure freafed in an and aufoclave (Class 4)
againsf woodworm, fermites and insecfs. Stainless steel bolts. 8mm Cor-
fen sfeel supports. Anchoring: M10 expansion bolfs.

Madeira de pinho com frafamenio em aufoclave classe 4 confra o ca-
runcho, férmitas e insefos. Parafusos em ago inoxidavel. Pés em chapa
de aco corten de 8 mm. Fixagdo recomendada: Ulilizagao de parafusos
de expansdo M10.

B

A
£ 1 c r—’
F nills
Ref. A B C H H1

VM311 2040 670 400 810 440

VM311




Kube

Hormigdn prefabricado color gris granttico de aspecto liso. An-
claje recomendado: Apoyado por su propio peso.

Béron préfabriqué gris granite, aspect lisse. Ancrage recom-
mandé : posé a ferre.

Pre-cast smooth granite grey concrete. Recommended an-

choring: free-standing.

Cimento pré-fabricado de cor cinzento granftico com aspetco
liso. Fixagao recomendada: Apoiado pelo seu préprio peso.

UM372M

Ref.

A

UM372M

2000 mm

800 mm

800 mm

Ofros productos Kube
Autres produits Kube
Other products Kube

Ofros productos Kube



L T B

g




Realizados en goma natural visibles mediante franjas amari-
llas y negras paralelas a la direccion de la marcha, de eleva-
da refroreflectancia y anfideslizantes

Fabriqués en gomme naturelle. Bandes jaunes ef noires para-
lleles & la direction de la circulation, haufement réfléchissantes
ef anli-dérapantes

Made of natural rubber with visible black and yellow sfripes
parallel fo the direction of fraffic. Highly refroreflective and non-
skid

Feitos em borracha natural visivel pelas listas amarelas e
prefas paralelas & diregdo de marcha, anfiderrapantes com
elementos allamente reflefores

( P — ) mI

Ref A B H

VBA20 1000 mm 150 mm 0 mm




con

Acero zincado elecfralifico con imprimacion epoxi y pintura poliésfer
en polvo color gris RAL 9006. Instalacion: Medianfe empoframiento
en el suelo. Opcional: Acero inoxidable (CSSI).

Fer zingué électrolyfique, couche primaire époxy et thermolaguage
polyester gris RAL 9006. Installation : Par encasirement dans le sol.
En option 1 Acier inoxydable (CSSI).

Electro-galvanised iron with epoxy primer coafing and a grey RAL
9006 polyester powder coated finish. Fiing: Embedded in the ground.
Optional: Stainless Steel (CSSI)

Ferro zincado eletroltico e imprimagdo epdxi e pintura poliéster em
pd de cor cinza RAL 9006. Insfalagdo: Chumbado no solo. Opcional:
Aco inoxidavel (CSSI).

Ref. A B H H1

CSsl 1538 850 2708 1198

CsS 1538 850 2708 1198




Hide

Madera de pino con frafamienfo aufoclave a vacio-
presion clase 4 confra la carcoma, termitas e insectos.
Instalacion: Mediante empotramiento de 400mm de los
postes en el suelo. Opcional: Posibilidad de suminisiros
adapfados a las necesidades del cliente.

Bois de pin fraifé¢ en aufoclave sous vide d'air classe 4
confre les vers & bois, les termites et les insectes. Insta-
llafion : Par encasfrement des pofeaux de 400mm dans
le sol. En option : Peur élre adapté aux besoins du client.

Pine wood vacuum-pressure freated in an aufoclave
(Class 4) against woodworm, termites and insects. Fiting:
Posfs embedded 400mm in the ground. Opfional: May
be cusfomised o meer clien requirements.

Madeira de pinho com frafamento em autoclave classe 4
conira o caruncho, térmitas e insetos. Instalogéo: Chum-
bado 400mm no solo. Opcional: Possibilidade de forne-
cimento adaptado as necessidades do cliente.

Ref. A B H
VCC1 1800 110 2200
VCC2 2100 110 2200
VCC3 2400 110 2200
VCC4 2600 110 2200

VCCIL 1800 110 2200

VCC1






sunnfer

Avda. Cuetos s/n
Sama de Langreo - Asturias

T.-F. 98567 80 93

mobiliario@suminfor.com




	Página en blanco
	Página en blanco
	Página en blanco
	Página en blanco
	Página en blanco
	Página en blanco
	Página en blanco
	Página en blanco
	Página en blanco
	Página en blanco
	Página en blanco



